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SECTION - I

- I

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions in this section.

All questions are compulsory.

1. Which of the following level of  Robert Gagne's hierarchy of learning is related to operant conditioning?

(A) Discrimination Learning (B) Verbal Association Learning

(C) Stimulus Response Learning (D) Problem Solving Learning

(A) (B) 

(C) (D) 

2. Which one of the following does not fall in the domain of psychoanalytical theory ?

(A) Defence Mechanism (B) Psychosexual Development

(C) Thanatos (D) Archetype

(A) (B) 

(C) (D) 

3. According to RTE Act, 2009  the minimum working hours prescribed for a teacher are -

(A) 45 hours per fortnight

(B) 45 hours per week

(C) 45 hours per week including preparation hours

(D) 50 hours per week including teacher's preparation hours

(A) 

(B) 

(C) 

(D)
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4. Which of the following is not a characteristic of infancy?

(A) Rapid physical and mental development (B) Having morality

(C) Dependency on others (D) Rapidity in the process of learning

(A) (B) 

(C) (D) 

5. As per the National Curriculum Framework-2005 (NCF-2005), what should not be the primary role of

a teacher?

(A) To give children ample opportunities to share their own understanding and their knowledge

(B) To ensure that the child himself is able to ask good questions and nurture his curiosity

(C) Completion of textbook chapters in proper sequence

(D) To make a child capable of associating his knowledge with that of school

(NCF-2005) 

(A) 

(B) 

(C) 

(D) 

6. Which of the following is not important for Action Research?

(A) The participant himself is a researcher

(B) It takes a little longer to find solutions of the problems

(C) The solution to the problem is brought into practice and evaluated

(D) It uses scientific techniques to find solution of the problem

(A) 

(B) 

(C) 

(D)
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7. The significance of learning outcomes is/are -

(A) To assess what the child has learnt according to certain criteria

(B) To determine individual differences in children

(C) To overcome the learning difficulties of children

(D) Assessment of children for class promotion

(A) 

(B) 

(C) 

(D) 

8. Which of the following intelligence is not mentioned by Robert Sternberg under his Triarchic Theory?

(A) Componential Intelligence (B) Contextual Intelligence

(C) Arousal Intelligence (D) Experiential Intelligence

(A) (B) 

(C) (D) 

9. The incorrect statement about intelligence is-

(A) The intelligent person adapts to the environment but he/she is unable to change and furbish it actively

(B) Intelligence is an inborn general cognitive ability

(C) With the help of intelligence, a person thinks rationally while performing purposeful actions

(D) Intelligence is ability to make good decisions, make good sense and present good arguments

(A)

(B)

(C)

(D)
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10. Who was first Indian Psychologist to standardize Binet's Intelligence Test in Urdu and Punjabi ?

(A) Uday Shankar (B) C.H. Rice

(C) M.C. Joshi (D) S.M. Mohsin

(A) (B) 

(C) (D) 

11. " I go for swimming everyday. I just love it. I take out time from my tight study schedule." This is an

example of which kind of motivation -

(A) Intrinsic motivation (B) Achievement motivation

(C) Extrinsic motivation (D) Approval motivation

(A) (B) 

(C) (D) 

12. The correct statement about personality is?

(A) Personality is a stable system

(B) Personality completely consists of the mental aspect

(C) The behaviour of a person in personality remains inconsistent from one time to another

(D) The behaviour and thoughts of a person are unique in an environment

(A) 

(B) 

(C) 

(D)
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13. In Bruner's Theory, structure of knowledge refers to -

(A) Construction of existing knowledge in the mind of learner

(B) Iconic, enactive and symbolic modes of knowledge

(C) Organizing the knowledge to facilitate understanding

(D) Images associated with a system of knowledge

(A) 

(B) 

(C) 

(D) 

14. Personality theory of H.J.Eysenck does not include one of these -

(A) Extraversion (B) Neuroticism

(C) Psychoticism (D) Openness

(A) (B) 

(C) (D) 

15. Which of the following is related to rationalization -

(A) Projection of intentions originated in one self towards others

(B) No emotional reaction for an incident

(C) Acceptable reason for an unacceptable thought

(D) Redirecting tensions

(A) 

(B) 

(C) 

(D) 

16. Which of the following can not be the necessary characteristic of a creative person ?

(A) Prefers complexity (B) Indepedence in decision making

(C) Self assertive (D) Always follows the rules

(A) (B) 

(C) (D) 
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17. Knowledge of addition, subtraction, multiplication, division is required to solve the problems of algebra.

Above statement refers to which kind of learning transfer ?

(A) Horizontal transfer (B) Vertical transfer

(C) Bilateral transfer (D) Zero transfer

(A) (B) 

(C) (D) 

18. Knowledge of individual difference helps a teacher in -

(A) Maitaining discipline in the class room (B) Evaluating homework of the students

(C) Planning the teaching learning process (D) Maintaing necessary order in the class

(A) (B) 

(C) (D) 

19. Which of the following statement is incorrect with respect to child development -

(A) It continues till maturation (B) It is a continuous process

(C) It is a progressive sequence of change (D) It also happens in pre-birth stage

(A) (B) 

(C) (D) 

20. Which one of the following pair is correct-

(A) Pavlov - Emitted response (B) Kohler - Insight learning

(C) Thorndike - Operant Conditioning (D) Skinner - Law of learning

(A) (B) 

(C) (D) 

21. Which one of the following is an example of specific learning disability-

(A) Mental Retardation (B) Autism

(C) Dyslexia (D) ADHD

(A) (B) 

(C) (D) 
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22. Out of sight out of mind is characteristic of which of the following development stage ?

(A) Sensory-motor stage (B) Pre-operational stage

(C) Concrete operational stage (D) Formal operational stage

(A) (B) 

(C) (D) 

23. According to vygotsky, which of the following concepts is central to learning -

(A) Proximity (B) Adaptation

(C) Assimilation (D) Culture and language

(A) (B) 

(C) (D) 

24. Which of the following is not a part of Lawrence Kohlberg’s Moral development theory -

(A) Conventional level (B) Pre-moral level

(C) Operational level (D) Self accepted moral principles level

(A) (B) 

(C) (D) 

25. Choose the correct set of instruments of thinking -

(A) Perception, learning and memory (B) Objects, concepts and symbols

(C) Memory, symbols and perception (D) Objects, learning and concepts

(A) (B) 

(C) (D) 

26. Which of the following personality test is related to Rosenweig ?

(A) 16 personality factor questionnaire (B) Picture frustration test

(C) Thematic appreciation test (D) P. E. N

(A) (B) 

(C) (D) 
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27. Which of the following is not a type of imagination as per classification of James Drever -

(A) Constructive imagination (B) Aesthetic imagination

(C) Theoretical imagination (D) Practical imagination

(A) (B) 

(C) (D) 

28. Which of the following is not associated with pre-childhood -

(A) Age of imaginary thinking (B) Age of using primitive thinking

(C) Age of playing (D) Age of learning through imitation

(A) (B) 

(C) (D) 

29. Excessive cutting of words (overlapping) was found in a child's notebook, lapse of letters and inability to

differentiate between small and capital letters were also seen in his notebook. The child may be suffering from-

(A) Dyslexia (B) Dysgraphia

(C) Dyscalculia (D) Autism

(A) (B) 

(C) (D) 

30. Which of the following is incorrect with respect to gifted child -

(A) Gifted children have generally I.Q. greater than 120

(B) Gifted children cannot be maladjusted

(C) Seprate classes and upgrading programmes are beneficial for their education

(D) None of the above statement is incorrect

(A) 

(B) 

(C) 

(D)
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- II

- I

31.

(A) (B) 

(C) (D) 

32.

(A) (B) 

(C) (D) 

33.

(A) (B) 

(C) (D) 

34.

(A) (B) 

(C) (D) 

35.

(A) (B) 

(C) (D) 
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36.

(A) (B) 

(C) (D) 

37.

(A) (B) 

(C) (D) 

38.

(A) (B) 

(C) (D) 

39.

(A) (B) 

(C) (D) 

40.

(A) (B) 

(C) (D) 

41.

(A) (B) 

(C) (D) 
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42.

(A) (B) 

(C) (D) 

43.

(A) (B) 

(C) (D) 

44.

(A) (B) 

(C) (D) 

45.

(A) (B) 

(C) (D) 

46.

(A) (B) 

(C) (D) 

47.

(A) (B) 

(C) (D) 

48.

(A) (B) 

(C) (D) 

49.

(A) (B) 

(C) (D) 

50.

(A) (B) 

(C) (D) 

51.

(A) (B) 

(C) (D) 
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52.

(A) 

(B) 

(C) 

(D) 

53.

(A) (B) 

(C) (D) 

54.

(A) (B) 

(C) (D) 

55.

(A) (B) 

(C) (D) 

56.

(A) (B) 

(C) (D) 

57.

(A) (B) 

(C) (D) 

58.

(A) 

(B) 

(C) 

(D) 

59.

(A) (B) 

(C) (D) 

60.

(A) (B) CBSE 

(C) (D) 
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SECTION-II

LANGUAGE - I

ENGLISH

There are 30 questions in this section.

All questions are compulsory.

Direction (31-35) : Read the passage carefully and answer the questions that below:

The child is as restless in the growth period of childhood as he was in his infancy. His interest in the

objects around him is on the increase. In the maturity period, the child specially develops social

consciousness. Therefore, it is high time he learnt the disciplined way of life at every level-home,

school and society. It is the duty of both the parents and the teachers to guide him properly by persuasion

and teaching. A child should not be pampered by adulation of parents. Mothers are more culpable in this

regard. In case, a child shows a sign of taking up a wrong path, parents and teachers should not refrain

from enforcing discipline on him.

31. Which out of the following is nearest in meaning to the word “Coaxing”?

(A) Enforcing (B) Persuasion

(C) Refrain (D) Consciousness

32. Which out of the following is the antonym of the word “Depressed”?

(A) Maturity (B) Culpable

(C) Pampered (D) Infancy

33. Which out of the following is the correct spelling?

(A) Diarrhea (B) Diarehea

(C) Diarea (D) Diarrea

34. Which is the noun of the word “Long”?

(A) Longer (B) Longest

(C) Longs (D) Length

35. Therefore, it is high time he learnt the disciplined way of life at every level-home, school and society.

Identify the underlined word-

(A) Noun (B) Adjective

(C) Adverb (D) Verb
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36. Which out of the following is the correct format of question?

(A) Why have you beat him on the way? (B) Why you have beat him on the way?

(C) Why does he beats me on the way? (D) Why did you beat him on the way?

37. “Making marks that cannot be removed”

Find out the one word-

(A) Infallible (B) Indelible

(C) Exonerate (D) Intelligible

38. Identify the correct passive voice of the following sentence.

She made me run last week.

(A) She was made me run last week by she. (B) I was made to run last week by her.

(C) I had been made run last week by her. (D) I was made run last week by her.

39. I must remember my key. What does the underlined auxiliary “must” suggest?

(A) Obligation (B) Promise

(C) Determination (D) Necessity

40. Which of the following sentences is correct?

(A) He reached the station before the train started.

(B) I arrived at the station after the train started.

(C) He was seeing the sea.

(D) The nightingale as well as the cuckoo is a singing bird.

41. Choose the mis-spelt word.

(A) Simlie (B) Singular

(C) Sieve (D) Siege

42. She ………………a lot of letters yesterday.

(A) had written (B) had been writing

(C) wrote (D) has written

43.  Aryan is………………….of the two boys.

(A) better (B) good

(C) the best (D) the better
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44. Which out of the following has a different middle sound

(A) cough (B) rough

(C) love (D) move

45. Identify the different sound in the beginning.

(A) Chain (B) Cheap

(C) Chafe (D) Chef

46. IPA stands for-

(A) International Phonetic Authority (B) International Phonetic Alphabet

(C) International Phonetic Area (D) Integrated Peer Association

47. The correct phonetic transcription of the word “Message” is-

(A) /mæsæz/ (B) /mæsez/

(C) /mesIdZ / (D) /mesedZ /

48. Choose the correct option for the underlined phrase:

Why did you turn down such a good proposal?

(A) Refuse (B) Postpone

(C) Reply (D) Accept

49. One word in a sentence appears in another form when repeated. It is called-

(A) Restatement (B) Replacement

(C) Repetition (D) Inflection

50. Which out of the following advocates Translation Cum Grammar method?

(A) It emphasise on grammatical explanation of a language pattern.

(B) It emphasise on translation of a language pattern.

(C) Mother tongue is the medium of instruction of teaching.

(D) All of the above.

51. Which method of teaching aims to build a direct bond into the world of the target language making

relation between experience and language, word and idea, thought and experience, rule and

performance.

(A) Translation Cum Grammar Method (B) Direct Method

(C) Bilingual Method (D) Substitution Method
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52. Audio-lingual method is also known as-

(A) Play Way Method (B) Chalk and Talk Method

(C) Look and say Method (D) Army Method

53. The correct sequence of basic skills is-

(A) Speaking, Reading, Writing, Listening (B) Reading, Writing, Listening, Speaking

(C) Writing, Listening, Speaking, Reading (D) Listening, Speaking, Reading, Writing

54. Which out of the following is the best way to express oneself?

(A) Listening (B) Speaking

(C) Reading (D) Writing

55. Which out of the following is not the characteristic of a good text book?

(A) Free Space (B) Text book story line

(C) Age inappropriate material (D) Well balanced textbook design

56. Which out of the following is the full form of GIF?

(A) Graphic Interior Form (B) Graphic Imported File

(C) Graphic Imported Folder (D) Graphics Interchange Format

57. Which method advocates the teaching of grammar not by rules but by usages?

(A) Correlation (B) Reference

(C) Informal (D) Traditional

58. A student of your class is in the habit of telling a lie. How would you deal with him?

(A) tell him not to tell a lie (B) punish him

(C) just ignore him (D) will take him into confidence and counsel

59. The aim of teaching grammar is-

(A) To develop students’ insight into the structures of English language

(B) To develop a scientific attitude about the language

(C) To enable to pupils to express their ideas logically and correctly in speech and writing

(D) All of the above

60. The idea of ‘incomprehensible input’ was first used by-

(A) Chomsky (B) Vygotsky

(C) Stephen Krashen (D) N.S. Prabhu

https://www.print-driver.com/?demolabel-en


(19)ST-1 C

P.T.O.

- II

- I

31.

(A) (B) 

(C) (D) 

32.

(A) (B) 

(C) (D) 

33.

(A) (B) 

(C) (D) 

34.

(A) (B) 

(C) (D) 

35.

(A) (B) 

(C) (D) 

36.

(A) (B) 

(C) (D) 

37.

(A) (B) 

(C) (D) 
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38.

(A) (B) 

(C) (D) 

39.

(A) (B) 

(C) (D) 

40.

(A) (B) 

(C) (D) 

41.

(A) (B) 

(C) (D) 

42.

(A) (B) 

(C) (D) 

43.

(A) (B) 

(C) (D) 

44.

(A) (B) 

(C) (D) 
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45.

(A) (B) 

(C) (D) 

46.

(A) (B) 

(C) (D) 

47.

(A) (B) 

(C) (D) 

48.

(A) (B) 

(C) (D) 

49.

(A) (B) 

(C) (D) 

50.

(A) (B) 

(C) (D) 

51.

(A) (B) 

(C) (D) 

52.

(A) (B) 

(C) (D) 

53.

(A) (B) 

(C) (D) 
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54.

(A) (B) 

(C) (D) 

55.

(A) (B) 

(C) (D) 

56.

(A) (B) 

(C) (D) 

57.

(A) (B) 

(C) (D) 

58.

(A) (B) 

(C) (D) 

59.

(A) (B) 

(C) (D) 

60.

(A) (B) 

(C) (D) 
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ਖੰਡ-II 
ਭਾਸ਼ਾ- I 
ਪੰਜਾਬੀ 

ਇਸ ਖੰਡ ਵ ਿੱ ਚ ਕੁਲ 30 ਪਰਸ਼ਨ ਹਨ l  
ਸਾਰ੃ ਪਰਸ਼ਨ ਜਰੂਰੀ ਹਨ l 

31. “ਸ਼੍ਰੀ ਗੁਯੂ ਗਰੰ ਥ ਸਾਹਿਫ ਜੀ” ਹਿਿੱਚ ਩ੂਯਣ ਹਿਸਯਾਭ ਰਈ............. ਦੀ ਿਯਤੋਂ ਕੀਤੀ ਗਈ ਿ੄। 
(A) ਛੁਿੱ ਟ ਭਯ੆ੜੀ (B) ਦ੅ ਡੰਡੀਆਂ
(C) ਦੁਹਫੰਦੀ (D) ਕਾਭਾ
32. ਹਰਖਣਾ ਹਸਖਾਉਣ ਰਈ ਸ਼ਫਦ ਯਚਨਾ ਅਤ੃ ਿਾਕ ਯਚਨਾ ਦਾ ਕਾਯਜ਼ ਹਕਿੜੀ ਅਿਿੱਸਥਾ ਹਿਚ ਹਸਖਾਇਆ ਜਾਂਦਾ ਿ੄
(A) ਩ਹਿਰੀ (B) ਦੂਜੀ
(C) ਤੀਜੀ (D) ਚ੆ਥੀ
33. ‘ਹਿਸ਼੍ਰ੃ਸ਼੍ਣ ਤੋਂ ਸੰਸਰ੃ਸ਼੍ਣ ਿਿੱ ਰ’ ਸੂਤਯ ਫਾਯ੃ ਸਿੀ ਕਥਨ ਚੁਣ੅
(A) ਹਿਸ਼੍ਰ੃ਸ਼੍ਣ ਦਾ ਅਯਥ ਿ੄ ਛ੅ਟ੃ ਛ੅ਟ੃ ਬਾਗਾਂ ਹਿਿੱਚ ਤ੅ੜਨਾ (B) ਸੰਸਰ੃ਸ਼੍ਨ ਦਾ ਅਯਥ ਿ੄ ਬਾਗਾਂ ਨੰੂ ਜ੅ੜਨਾ
(C) ਇਸਦ੃ ਩ਹਿਰਾਂ ਹਗਆਨ ਦਾ ਹਿਸ਼੍ਰ੃ਸ਼੍ਣ ਕਯਨਾ ਚਾਿੀਦਾ ਿ੄  (D) ਸਾਯ੃ ਿੀ ਸਿੀ
34. ਅੰਨਹੇ  ਨੰੂ ਭਾਂ ........... ਛਿੱ ਡ ਗਈ ।” ਅਖਾਣ ਩ੂਯਾ ਕਯ੅ 
(A) ਘਯ੃ (B) ਭੰਦਯ
(C) ਸਕੂਰ੃ (D) ਭਸੀਤ੃
35. ਗੁਯਭੁਖੀ ਦ੃ ਹਕੰਨੇ ਅਿੱ ਖਯਾਂ ਨਾਰ ਸਾਯੀਆਂ ਰਗਾਂ ਭਾਤਯਾਂ ਦੀ ਿਯਤੋਂ ਨਿੀ ਕੀਤੀ ਜਾ ਸਕਦੀ
(A) ਹਤੰਨ (B) ਇਿੱਕ
(C) ਦਿੱ ਸ (D) ਦ੅
36. ਖਹਿਿੇਂ ਹਿਅੰਜਨ ਿਨ –
(A) ਩, ਭ, ਿ (B) ਸ, ਸ਼੍, ਿ
(C) ਸ, ਡ, ਕ (D) ਚ,਩, ਜ
37. ‘਩ਾਠ ਩ੁਸਤਕ’ ਿ੄
(A) ਕ੃ਿਰ ਦ੃ਖਣ ਸਾਧਨ (B) ਕ੃ਿਰ ਸੁਣਨ ਸਾਧਨ
(C) ਦ੃ਖਣ ਸੁਣਨ ਸਾਧਨ (D) ਕ੅ਈ ਨਿੀਂ
38. ਗੋਂਗਰੂੰ ਆਂ ਤੋਂ ਹਭਿੱ ਟੀ ਝਾੜਣਾ’ ਭੁਿਾਿਯ੃ ਦਾ ਅਯਥ ਿ੄
(A) ਹਭਿਨਤੀ ਿ੅ਣਾ (B) ਸਭਾ ਗੁਜਾਯਨਾ
(C) ਫਾਿਯੋਂ ਸਿੱ ਹਚਆਂ ਿ੅ਣਾ (D) ਖ੃ਤੀ ਕਯਨਾ
39. ਹਕਿੜ੃ ਹ਩ਛ੃ਤਯ ਦਾ ਅਯਥ ਭਾਰਕ ਜਾਂ ਯਿੱ ਖਣ ਿਾਰਾ ਿੁੰ ਦਾ ਿ੄
(A) ਸ਼ਾਰਾ (B) ਦਾਯ

(C) ਦਾਨ (D) ਗਾਯ
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40. ਹਿਅੰਜਨ ਦ੃ ਦ੅ਿਯ੃ ਉਚਾਯਣ ਰਈ ਕੀ ਿਯਹਤਆ ਜਾਂਦਾ ਿ੄-
(A) ਅਿੱਧਕ (B) ਹਟਿੱ ਩ੀ
(C) ਹਫੰਦੀ (D) ਹਸਿਾਯੀ

ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪ੄ਰਹ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਉਸ ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪਰਸ਼ਨਾਂ (41 ਤੋਂ 45)  ੃ ਉੱਤਰ ਢੁਿੱ ਕ ੇਂ ਵ ਕਲਪਾਂ ਰਾਹੀਂ ਵ ਓ: 
        ਇਹਤਿਾਸ ਇਸ ਗਰ ਦਾ ਗਿਾਿ ਿ੄ ਹਕ ਜਦ ਿੀ ਦ੃ਸ਼੍ ’ਤ੃ ਭੁਸੀਫਤ ਫਣੀ, ਇਿੱਥ੃ ਦ੃ ਿਾਸੀਆਂ ਨੇ ਿ੄ਯੀਆਂ ਨਾਰ ਚੰਗਾ 

ਰ੅ਿਾ ਹਰਆ। ਗੁਯੂ ਗ੅ਹਫੰਦ ਹਸੰਘ ਜੀ ਨੇ ਕ੃ਿਰ ਨੋਂ  ਸਾਰ ਦੀ ਉਭਯ ਹਿਿੱਚ ਆ਩ਣ੃ ਹ਩ਤਾ ਗੁਯੂ ਤ੃ਗ ਫਿਾਦੁਯ ਸਾਹਿਫ ਨੰੂ ਹਿੰਦ ੂ
ਧਯਭ ਦੀ ਯਿੱ ਹਖਆ ਰਈ ਸ਼੍ਿੀਦੀ ਦ੃ਣ ਦੀ ਆਹਗਆ ਦ੃ ਹਦਿੱ ਤੀ ਤ੃ ਫਾਅਦ ਹਿਿੱਚ ਆ਩ਣਾ ਸਯਫੰਸ ਤਕ ਿਾਯ ਹਦਿੱ ਤਾ। ਫੰਦਾ 
ਫਿਾਦਯ ਨੇ ਸਯਹਿੰਦ ਦੀ ਇਿੱ ਟ ਨਾਰ ਇਿੱਟ ਿਜਾ ਹਦਿੱ ਤੀ। ਭਿਾਯਾਣਾ ਩ਰਤਾ਩ ਨੇ ਭੁਗਰ ਸਭਯਾਟ ਅਕਫਯ ਦੀ ਈਨ ਨਾ 
ਭੰਨੀ। ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਹਸੰਘ ਨੇ ਖ੃ਯੂੰ -ਖ੃ਯੂੰ  ਿ੅਋ ਩ੰਜਾਫੀਆਂ ਨੰੂ ਇਕਭੁਿੱ ਠ ਕਯਕ੃ ਩ੰਜਾਫ ’ਤ੃ ਩ੰਜਾਫੀਆਂ ਦਾ ਯਾਜ ਕਾਇਭ 
ਕਯ ਹਦਿੱ ਤਾ। ਬਗਤ ਹਸੰਘ ਤ੃ ਉਸਦ੃ ਸਾਥੀਆਂ ਨੇ ਿਿੱ ਸ-ਿਿੱ ਸ ਕ੃ ਪਾਂਸੀ ਦ੃ ਯਿੱ ਸ੃ ਆ਩ਹਣਆਂ ਗਹਰਆਂ ਹਿਿੱਚ ਩ਿਾ਋। ਰਾਰਾ 
ਰਾਜ਩ਤ ਯਾ਋ ਨੇ ਪਯੰਗੀਆਂ ਦੀਆਂ ਡਾਂਗਾ ਖਾਂਹਦਆਂ ਆ਩ਣਾ ਆ਩ਾ ਹਨਛਾਿਯ ਕਯ ਹਦਿੱਤਾ। ਜਨਯਰ ਡਾਇਯ ਤੋਂ ਫਦਰਾ ਰ੄ਣ 
ਰਈ ਸ: ਉਧਭ ਹਸੰਘ ਨੇ ਅੰਗਯ੃ਜਾਂ ਨੰੂ ਨਾਨੀ ਚ੃ਤ੃ ਕਯਿਾ ਹਦਿੱ ਤੀ। ਸ: ਕਯਤਾਯ ਹਸੰਘ ਸਯਾਬਾ ਨੇ ਅੰਗਯ੃ਜਾਂ ਦੀ ਨੀਂਦ ਿਯਾਭ 
ਕਯ ਹਦਿੱ ਤੀ। ਦ੃ਸ਼੍ ਩ਰਤੀ ਕਯੁਫਾਨੀਆਂ ਦ੃ਣ ਹਿਿੱਚ ਸਾਡੀਆਂ ਔਯਤਾਂ ਿੀ ਹ਩ਿੱ ਛ੃ ਨਿੀਂ ਯਿੀਆਂ-ਫੀਫੀ ਗੁਯਸ਼੍ਯਨ ਕ੆ਯ, ਯਾਣੀ 
ਝਾਸੰੀ ਤ੃ ਯਾਣੀ ਸਾਹਿਫ ਕ੆ਯ ਨੇ ਿ੄ਯੀਆਂ ਨੰੂ ਹਦਨੇ ਤਾਯ੃ ਹਦਖਾ ਹਦਿੱ ਤ੃। ਹ਩ਿੱ ਛ੃ ਹਜਿ੃ ਿ੅ਈ ਕਾਯਹਗਰ ਦੀ ਰੜਾਈ ਹਿਿੱਚ ਹਿਸ਼੍੃ਸ਼੍ 
ਕਯਕ੃ ਬਾਯਤੀ ਪ੆ਜ ਤ੃ ਸਭੂਚ੃ ਬਾਯਤੀਆਂ ਨੇ ਩ਾਹਕਸਤਾਨ ਨੰੂ ਩ਛਾੜ ਕ੃ ਦਿੱ ਸ ਹਦਿੱ ਤਾ ਹਕ ਬਾਯਤੀਆਂ ਹਿਿੱਚ ਦ੃ਸ਼੍-ਹ਩ਆਯ ਦਾ 
ਜਜਫਾ ਆ਩ਣ੃ ਩ੂਯ੃ ਜ੅ਫਨ ਤ੃ ਿ੄। 

        ਅਸਰ ਹਿਿੱਚ ਦ੃ਸ਼੍ ਬਗਤਾਂ ਦਾ ਜੀਿਨ ਦ੃ਸ਼੍ ਰਈ ਅਯ਩ਣ ਿੁੰ ਦਾ ਿ੄ ।ਉਿ ਸਿੱਚ੃ ਦ੃ਸ਼੍-ਸ੃ਿਕ ਫਣ ਕ੃ ਦ੃ਸ਼੍ ਦੀ 
ਸ੃ਿਾ ਕਯਦ੃ ਿਨ। ਉਿ ਉੱਚ-ਆਚਯਣ ਦ੃ ਭਾਰਕ ਿੁੰ ਦ੃ ਿਨ । ਉਿ ਜਾਤ-਩ਾਤ, ਯੰਗ-ਯੂ਩ ਅਤ੃ ਊਚ-ਨੀਚ ਦ੃ ਹਿਤਕਹਯਆਂ 
ਤੋਂ ਫਯੀ ਿੁੰ ਦ੃ ਿਨ। ਉਿ ਧਯਭ, ਫ੅ਰੀ, ਩ਰਾਂਤ ਤ੃ ਖ੃ਤਯ ਦ੃ ਸ੆ੜ੃ ਹਿਚਾਯਾਂ ਤੋਂ ਉੱ਩ਯ ਿੁੰ ਦ ਿਨ। ਉਿ ਆ਩ਣਾ ਸਿਾਯਥ ਬੁਿੱ ਰ 
ਕ੃ ਦ੃ਸ਼੍ ਰਈ ਿਯ ਕੁਯਫਾਨੀ ਕਯਨ ਰਈ ਹਤਆਯ-ਫਯ-ਹਤਆਯ ਯਹਿੰਦ੃ ਿਨ। 
41. ਹਕਿੜ੃ ਸੁਤੰਤਯਤਾ ਸੰਗਯਾਭੀ ਨੇ ਅੰਗਯ੃ਜਾਂ ਰਈ ਭੁਸ਼੍ਹਕਰਾਂ ਖੜਹੀਆਂ ਕਯ ਹਦਿੱ ਤੀਆਂ ਸਨ।
(A) ਸ਼੍ਿੀਦ ਉਧਭ ਹਸੰਘ ਨੇ (B) ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਹਸੰਘ ਨੇ
(C) ਕਯਤਾਯ ਹਸੰਘ ਸਯਾਬਾ ਨੇ (D) ਜਨਯਰ ਡਾਇਯ ਨੇ
42. ਩ੰਜਾਫੀਆਂ ਦੀ ਋ਕਤਾ ਰਈ ਹਕਸਨੇ ਭ੅ਿਯੀ ਬੂਹਭਕਾ ਹਨਬਾਈ
(A) ਗੁਯੂ ਤ੃ਗ ਫਿਾਦਯ ਜੀ (B) ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਹਸੰਘ
(C) ਯਾਣੀ ਝਾੰਸੀ (D) ਇਿਨਾਂ ਹਿਚੋਂ ਕ੅ਈ ਨਿੀ
43. ਩੄ਯਹ੃ ਹਿਿੱ ਚ ਆ਋ ਸ਼੍ਫਦ ‘਩ਛਾੜ ਕ੃’ ਦਾ ਕੀ ਅਯਥ ਿ੄
(A) ਿਯਾ ਕ੃ (B) ਿਾਯ ਖਾ ਕ੃
(C) ਈਨ ਭੰਨ ਕ੃ (D) ਗ੅ਡ੃ ਟ੃ਕ ਕ੃  
44. ਩੄ਯਹ੃ ਹਿਿੱ ਚ ਆ਋ ‘ਖ੃ਯੂੰ -ਖ੃ਯੂੰ ’ ਸ਼੍ਫਦ ਿ੄
(A) ਅਗ੃ਤਯ (B) ਹ਩ਛ੃ਤਯ
(C) ਹਿਯ੅ਧੀ ਸ਼੍ਫਦ (D) ਸਭਾਸੀ ਸ਼੍ਫਦ
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45. ਉ਩ਯ੅ਕਤ ਩੄ਯਹ੃ ਦਾ ਢੁਕਿਾਂ ਹਸਯਰ੃ਖ ਦਿੱ ਸ੅ ।
(A) ਰੜਾਈ (B) ਦੁਸ਼੍ਭਨੀ
(C) ਦ੃ਸ਼੍-ਹ਩ਆਯ (D) ਿ੄ਯ-ਹਿਯ੅ਧ
46. ‘ਈਨ ਨਾ ਭਨਣਾ ’ ਭੁਿਾਿਯ੃ ਦਾ ਅਯਥ ਿ੄ ?
(A) ਸਰਾਿ ਨਾ ਭਨਣੀ (B) ਿਾਯ ਨਾ ਭਨਣੀ
(C) ਦ੅ਸਤੀ ਨਾ ਭਨਣੀ (D) ਸਾਯ੃ ਿੀ
47. ‘ਜਜਫਾ’ ਸ਼੍ਫਦ ਦਾ ਸਭਾਨਾਯਥੀ ਿ੄
(A) ਰੜਾਈ (B) ਭੁਿਿੱ ਫਤ
(C) ਿਰਿਰਾ (D) ਦ੃ਸ਼੍ ਹ਩ਆਯ
48. ਗੁਯਭੁਖੀ ਹਰ਩ੀ ਹਿਿੱਚ ਕੁਿੱ ਰ ਹਰ਩ਾਂਕ ਹਕੰਨੇ ਿਨ ?
(A) 56 (B) 42
(C) 65 (D) 48
49. ਚੰਗ੃ ਭੁਰਾਂਕਣ ਦਾ ਗੁਣ ਨਿੀਂ ਿ੄
(A) ਹਿਸ਼ਿਾਸ਼ ਮ੅ਗ (B) ਿਸਤੁਹਨਸ਼ਟਤਾ
(C) ਨਾਟਕੀਕਯਨ (D) ਹਨਖ੃ੜੀਕਯਨ
50. ਹਿਯਰਾ ਿੀ ਿ੃ਰ੃ ਹਸਯ ਕੰਭ ਸਾਯਦਾ ਿ੄। ਕਿਾਣੀ ਦਾ ਸਾਯ ਹਰਖ੅ । ਩ਹਿਰ੃ ਿਾਕ ਹਿਿੱ ਚ ਆ਋ ‘ਸਾਯ’ ਸ਼੍ਫਦ ਦਾ ਅਯਥ

ਚੁਣ੅
(A) ਸਾਯਾ (B) ਨਚ੅ੜ
(C) ਭਤਰਫ (D) ਩ੂਯਾ ਕਯਨਾ

     ਵਨਰ ੃ਸ਼: ਇਸ ਪ੄ਰ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਉਸ ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪਰਸ਼ਨਾਂ (51 ਤੋਂ 55) ੃ ਢੁਿੱ ਕ ੇਂ ਉੱਤਰ ਵ ਓ- 
     ਧਯਤੀ ਅੰਨ-ਦਾਤਾ ਤ੃ ਪਰਦਾਤਾ ਿ੅ਣ ਦ੃ ਨਾਰ ਨਾਰ, ਧਯਤੀ ਉੱ਩ਯ ਿਸਦ੃ ਸਬ ਩ਰਾਣੀਆਂ ਤ੃ ਫਨਸ਩ਤੀ ਦੀ ਯਿੱ ਹਖਅਕ 

ਤ੃ ਩ਾਰਕ ਿੀ ਿ੄। ਧਯਨੀ ਦ੃ਿੀ ਬੂਭੀ ਦ੃ ਯੂ਩ ਹਿਚ ਿਯ ਥਾਂ ਹਿਆ਩ਕ ਿ੄, ਉਸਨੰੂ ਛੂਿ ਕ੃ ਩ੂਹਜਆ ਜਾ ਸਕਦਾ ਿ੄। ਇਸ 
ਰਈ ਧਯਤੀ ਦੀ ਕ੅ਈ ਭੜੀ ਜਾਂ ਅਸਥਾਨ ਨਿੀਂ ਹਸਯਹਜਆ ਜਾਂਦਾ ਤ੃ ਨਾ ਇਸਦੀ ਕ੅ਈ ਭੂਯਤੀ ਫਣਾਈ ਜਾਂਦੀ ਿ੄। ਹਪਯ 
ਿੀ ਕਈ ਹ਩ੰਡਾਂ ਹਿਚ ਹਕਸ੃ ਩ਹਿਿੱ ਤਯ ਦਯਿੱ ਖ਼ਤ ਿ੃ਠਾਂ ਩ਿੱ ਥਯਾਂ ਗੀਹਟਆਂ ਜਾਂ ਠੀਕਯੀਆਂ ਦੀ ਢ੃ਯੀ ਹਜਿੀ ਿ੃ਖਣ ਨੰੂ ਹਭਰਦੀ 
ਿ੄। ਰ੅ਕੀ ਇਿੱ ਥ੃ ਿੀ ਧਯਨੀ ਦ੃ਿੀ ਦੀਆਂ ਸੁਿੱ ਖਣਾ ਸੁਿੱ ਖ ਦ੃ ਤ੃ ਦੁਿੱ ਧ, ਪਰ ਤ੃ ਅੰਨ ਬ੃ਟ ਕਯਦ੃ ਿਨ। ਇਿੱਥ੃ ਿੀ ਧਯਨੀ ਨਹਭਤ 
ਹਘਉ ਦ੃ ਦੀਿ੃ ਫਾਰ੃  ਜਾਂਦ੃ ਿਨ। ਦੁਿੱ ਧ ਚ੅ਣ ਿ੃ਰ੃ ਩ਹਿਰੀਆਂ ਕੁਝ ਧਾਯਾਂ ਧਯਤੀ ਭਾਤਾ ਨੰੂ ਬ੃ਟ ਕੀਤੀਆਂ ਜਾਂਦੀਆਂ ਿਨ। 
ਿਰ ਿਾਿੁਣ ਤ੃ ਫੀਜ ਫੀਜਣ ਿ੃ਰ੃ ਧਯਤੀ ਩ੂਜੀ ਜਾਂਦੀ ਿ੄। ਇਸ ਭ੆ਕ੃ ਉੱਤ੃ ਗੁੜ ਦੀ ਬ੃ਰੀ ਜਾਂ ਕੁਝ ਕ੆ੜੀਆਂ ਧਯਤੀ ਨੰੂ 
ਬ੃ਟ ਕੀਤੀਆਂ ਜਾਂਦੀਆਂ ਿਨ। ੝ਸਰ ਦੀ ਿਾਢੀ ਿ੃ਰ੃ ਕੁਝ ਕੁ ਫੂਟ੃ ਧਯਨੀ ਦ੃ਿੀ ਦੀ ਬ੃ਟਾ ਿਜ੅ ਛਿੱ ਡ ਹਦਿੱ ਤ੃ ਜਾਂਦ੃ ਿਨ। ਇਸ੃ 
ਤਯਹਾਂ ਨਿੇਂ ਭਕਾਨ ਦੀ ਨੀਂਿ ਯਿੱ ਖਣ ਰਿੱ  ਹਗਆਂ ਩ਹਿਰਾਂ ਨਾਯੀਅਰ, ਸੰਧੂਯ, ਚਾਂਦੀ ਦ੃ ਹਸਿੱ ਕ੃, ਭ੅ਤੀ, ਘ੅ਗ੃ ਤ੃ ਕ੆ਡੀਆਂ ਆਹਦ 
ਭ੆ਰੀ ਦ੃ ਧਾਗ੃ ਹਿਚ ਩ਯ੅ ਕ੃ ਧਯਨੀ ਭਾਈ ਦੀ ਬ੃ਟ ਚੜਹਾ਋ ਜਾਂਦ੃ ਿਨ। ਹਕਯਸਾਨ, ਦੁਕਾਨਦਾਯ, ਿ਩ਾਯੀ ਅਤ੃ ਆਜੜੀ 
ਆਹਦ ਿੀ ਧਯਤੀ ਭਾਂ ਦੀ ਩ਜੂਾ ਕਯਦ੃ ਿਨl ਧਾਯਨਾ ਿ੄ ਹਕ ਸਹਤ ਦੀ ਩ਤ ਧਯਤੀ ਯਿੱ ਖਦੀ ਿ੄। 
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51. ਩੄ਯਹ੃  ਹਿਿੱ ਚ ਆ਋ ‘਩ਤ’ ਸ਼੍ਫਦ ਦਾ ਅਯਥ ਿ੄
(A) ਇਿੱਛਾ (B) ਇਿੱਜ਼ਤ
(C) ਹਜਿੱ ਤ (D) ਿਾਯ
52. ਉ਩ਯ੅ਕਤ ਩੄ਯਹ੃  ਦਾ ਢੁਿੱ ਕਿਾਂ ਹਸਯਰ੃ਖ ਚੁਣ੅
(A) ਧਯਤੀ ਨਾਰ ਆਦਾਨ-਩ਰਦਾਨ (B) ਫਨਸ਩ਤੀ ਨਾਰ ਹਖਰਿਾੜ
(C) ਉ਩ਯ੅ਕਤ ਦ੅ਿੇਂ (D) ਧਯਤੀ ਦੀ ਿਹਡਆਈ
53. ਿਰ ਿਾਿੁਣ ਜਾਂ ਫੀਜ ਫੀਜਣ ਸਭੇਂ ਧਯਤੀ ਦੀ ਩ੂਜਾ ਹਕਿੇਂ ਕੀਤੀ ਜਾਂਦੀ ਿ੄
(A) ਨਾਯੀਅਰ, ਸੰਧੂਯ, ਚਾਂਦੀ ਹਸਿੱ ਕ੃, ਭ੅ਤੀ, ਘ੅ਗ੃, ਕ੆ਡੀਆਂ ਦ੃ ਕ੃ (B) ਗੁੜ ਦੀ ਬ੃ਰੀ ਜਾਂ ਕੁਿੱ ਝ ਯ੅ੜੀਆਂ ਨਾਰ
(C) ਭ੆ਰੀ ਦ੃ ਧਾਗ੃ ਨਾਰ ਬੇਂਟ ਕਯ ਕ੃ (D) ਦੁਿੱ ਧ ਦੀਆਂ ਧਾਯਾਂ ਭਾਯ ਕ੃
54. ਩੄ਯਹ੃  ਹਿਿੱ ਚ ਆ਋ ‘ਆਜੜੀ’ ਸ਼੍ਫਦ ਦਾ ਅਯਥ ਿ੄
(A) ਿੀਯ੃ ਜਿਾਿਯਾਤ ਦਾ ਕੰਭ ਕਯਨ ਿਾਰਾ (B) ਫਿੁਤ ਹਦਰ ਅਜੀਜ ਤ੃ ਇਿੱ ਜ਼ਤ ਆਫਯੂ ਿਾਰਾ
(C) ਬ੃ਡਾਂ, ਫਕਯੀਆਂ ਜਾਂ ਊਂਠ ਚਾਯਾਂ ਿਾਰਾ (D) ਸਯਕਾਯੀ ਕਯਭਚਾਯੀ
55. ਧਯਤੀ ਭਾਤਾ ਦਾ ਕ੅ਈ ਩ੂਜਾ ਅਸਥਾਨ ਹਕਉਂ ਨਿੀਂ ਫਣਾਇਆ ਜਾਂਦਾ ?
(A) ਸੰਕਟ ਕਯਕ੃ (B) ਿਯ ਥਾਂ ਹਿਆ਩ਕ ਿ੅ਣ ਕਯਕ੃
(C) ਚੜਹਾਿ੃ ਦੀਆਂ ਫਿੁਤੀਆਂ ਚੀਜ਼ਾਂ ਿ੅ਣ ਕਯਕ੃ (D) ਹਭਿੱ ਟੀ ਿਾਰੀ ਥਾਂ ਕਿੱ ਚੀ ਿ੅ਣ ਕਯਕ੃
56. ‘ਧਯਤੀ’ ਸ਼੍ਫਦ ਦਾ ਹਿ਩ਯੀਤ ਹਰੰਗ -
(A) ਚੰਨ (B) ਸੂਯਜ
(C) ਅਕਾਸ਼੍ (D) ਿੁੰ ਦਾ ਿੀ ਨਿੀ
57. ਖ੃ਡ ਹਿਧੀ ਫਾਯ੃ ਸਿੀ ਨਿੀ ਿ੄
(A) ਖ੃ਡ ਉਦ੃ਸ਼੍ ਿ੄ ਸਾਧਨ ਨਿੀ (B) ਖ੃ਡ ਦਾ ਉਦ੃ਸ਼੍ ਸ਩ਸਟ ਿ੅ਣਾ ਚਾਹਿਦਾ ਿ੄
(C) ਇਸਦ੃ ਜਨਭਦਾਤਾ ਕਾਰਡ ਿ੃ਰ ਕੁਕ ਿਨ (D) ਖ੃ਡ ਦਾ ਭੁਖ਼ ਗੁਣ ਯ੅ਹਚਕਤਾ ਿ੅ਣਾ ਚਾਿੀਦਾ
58. ਩ੰਜਾਫੀ ਬਾਸ਼੍ਾ ਅਹਧਆ਩ਨ ਸੰਫੰਧੀ ਸਭਿੱ ਹਸਆ ਨਿੀ ਿ੄-
(A) ਦੂਜੀਆਂ ਬਾਸ਼੍ਾਿਾਂ ਿਿੱਰ ਹਜਆਦਾ ਝੁਕਾਅ (B) ਩ੰਜਾਫੀ ਨਾਰ ਹ਩ਆਯ ਕਯਨਾ

(C) ਅਹਧਆ਩ਕਾਂ ਰਈ ਟਰ੃ਹਨੰਗ ਦੀ ਘਾਟ (D) ਅਸੰਤ੅ਖਜਨਕ ਩ਾਠ ਩ੁਸਤਕਾਂ

59. ਩ੰਜਾਫੀ ਹਿਸ਼੍੃ ਦਾ ਅਹਧਆ਩ਕ ਆ਩ਣ੃ ਹਿਸ਼੍੃ ਦਾ ਭਾਹਿਯ ਅਤ੃ ਹਭਿਨਤੀ ਿ੅ਣ ਦ੃ ਨਾਰ-ਨਾਰ ਿ੅ਣਾ ਚਾਿੀਦਾ ਿ੄ -
(A) ਫਿੁਤ ਹਜਆਦਾ ਕਠੋਯ (B) ਫਿੁਤ ਹਜਆਦਾ ਉਦਾਯ
(C) ਸੁਹਿਯਦ ਅਤ੃ ਸਭਝਦਾਯ (D) ਿਿਭਾਂ ਤ੃ ਪਹਸਆ ਿ੅ਇਆ
60. ‘ਜਾਚ, ਆਕੜ, ਿੜਫਾਂ, ਫੁਿੱ ਕਰ’ ਹਕਸ ਬਾਸ਼੍ਾ ਦ੃ ਸ਼੍ਫਦ ਿਨ?
(A) ਸੰਸਹਕਰਤ (B) ਦ੃ਸੀ
(C) ਅੰਗਯ੃ਜੀ (D) ਯੂਸੀ

(30)ST-1 C

P.T.O.

https://www.print-driver.com/?demolabel-en


ખંડ - ||

ભાષા - |

ગુજરાતી 

આ ખંડમા ંકુલ 30 Ṕὴનો છે.  

દરેક Ṕὴનનો જવાબ આપવો ફરિજયાત છે.

31. ἙઢીશḐદનો સાચો Ṕયા᷷ય લખો.

(A) ચુḚત (B) જડ (C) મ᷺કમ (D) પરંપરા

32. કયો શḐદ સમાનાથὁ નથી ત ેજણાવો.

(A) સૂય᷷ (B) રિવ (C) ἵદવાકર (D) સોમ

33. રસમ - િસકલ, ચહેરો - રીત આ સાચી તીર જોડો.

(A) રસમ - રીત, ચહેરો -િસકલ  (B) રસમ-િસકલ, ચહેરો - રીત

(C) (A) અન ે( B)  (D) આપેલ િવકḕપો અસḉય છે.

34. શાદ᷷ૂલ શḐદના ંબ ેઅથ᷷ આપો.

(A) વાઘ- ḗયાṃ (B) ἶસહ - ἶસહલ (C) પિવṏ - શુḋધ (D) કડક - મ᷺કમ

35. નીચેનામાથંી Ṕવૃિતનો િવરોધી શḐદ જણાવો.

(A) કાય᷷રત  (B) િનવૃિή  (C) સἵṀય  (D) કમ᷷

36. નીચેનામાથંી કઈ સંધી સાચી નથી.

(A) પુἘષોήમ = પુἘષ + ઉήમ  (B) Ṕḉયેક = Ṕિત + એક

(C) રવીḍṑ = રવ + ઇḍṑ  (D) મનોરથ = મનસ્

37.નીચેનામાથંી ἶચતાતુરની સાચી સંધી શોધો.

(A) ἶચતા + આતુર (B) િચતા + આતુર  (C) ἶચત + આતુર (D) ἶચતા + તુર

(31)ST-1 C

P.T.O.

https://www.print-driver.com/?demolabel-en


38.નીચેનામાથંી ḋવંḋવ સમાસ શોધો.

(A) ἶચતાતુર  (B) માતા- િપતા (C) ઘોડાગાડી (D) પરદેશ

39. નીચ ેઆપેલા કાḗયપંિ᷺તના છંદનુ ંનામ જણાવો.

દીપકના બ ેદીકરા, કાજળ ને અજવાશ

(A) િશખἵરણી (B) હἵરગીત (C) ચોપાઈ (D) દોહરો

40. ધીમે ધીમ ેત ેડગ ભરતો કઈ મή ગજેḍṑણી માફક વા᷺યમાનો અલંકાર જણાવો.

(A) ઉપમા (B) Ἑપક  (C) ὴલેષ (D) સἓવારોપણ

41. બસ તો મળશે જ - વા᷺યમા ં"તો" ____ છે.

(A) સંયોજક  (B) કેવળṔાયોગી (C) િનપાત  (D) નામયોગી

42. કંઈક તો થયું લાગે છે. રેખાંἵકત શḐદ ઓળખાવો.

(A) અિનિὴચત સવ᷷નામ   (B) સાયેકા સવ᷷નામ (C) Ḛવવાચક સવ᷷નામ (D) દશ᷷ક સવ᷷નામ

43. ṝવણ કૌશḕય માટ ેનીચેની કઈ બાબત સાચી છે ?

(A) પોતાના િવચારો ḗય᷺ત કરવા  (B) લેખકના િવચારો ḗય᷺ત કરવા (C) વ᷺તાના િવચારો સમજવા   (D)
િવચારો રજૂ કરવા

44. કયું ṑḘય -ṝાḗય સાધન છે ?

(A) ḏલેશ કાડ᷷ (B) રἵેડયો (C) Ḑલેક બોડ᷷ (D) Ḛમાટ᷷ ફોન

45. બાળકમાં ભાષા શીખવવાની શἙઆત ᷺યાથંી થાય છે ?

(A) શાળાથી (B) હોિḚપટલથી  (C) ઘરથી  (D) મહોḕલાથી

46. શḐદસમૂહ માટ ેએક શḐદ લખો. - ચિલત ન થઇ શક ેતેવંુ.

(A) િવચલ (B) અફર (C) અચલ (D) િḚથર

47. િશ᷺᷵ની સૂચા આપી - આપીન ેἓભ ઘસાઈ ગઈ. - આ વા᷺યમા ં'ἓભ ઘસાઈ ગઈ'નો અથ᷷ શું થાય ?

(A) બોલવામા ંલોચા મારવા (B) બોલતા બોલતા ἓભ કચડાઈ જવી.  (C) કહીન ેથાકી જવું  (D) બોલતા

બોલતા ἓભ પાતળી થઇ જવી.
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48. નીચેનામાથંી કયો કૌશḕય અથ᷷Ṃહણના ંછે ?

(A) કથાન - લેખન  (B) ṝવણ - કથન (C) ṝવણ - વાંચન (D) વાચંન - લેખન

49. પાḅયપુḚતકનું કયું લ᷵ણ બાύલ᷵ણ ગણાય ?

(A) ἷકમત (B) િવષયવḚતુ (C) ભાષાશૈલી (D) અનુબંધ

50. નીચેનામાથંી કઈ કસોટી અનાḉમ - Ṕકારની કસોટી નથી ?

(A) બહુિવકḕપ (B) જોડકા ંબનાવો.  (C)  ટૂંકમા ંજવાબ આપો. (D) ખાલી જ᷼યા પૂરો.

51. 'વગ᷷ખંડ' ની ἒતી કઈ છે ?

(A) નર (B) નારી (C) નાḍયતર  (D) નપુંસકἶલગ

52. કોઈના બોલેલા શḐદોનો ઉḕલેખ કરવા માટ ેકયું િચḛન વાપરશો

(A) લોપિચḛન (B) અવતરણ - િચḛન  (C) કἽસ (D) રેખાિચḛન

53. કયું લ᷵ણ ભાષા િશ᷵ક માટ ેઅિત આવḘક છે ?

(A) સારો દેખાવ (B) વા᷺છટા  (C) સારા હḚતા᷵ર  (D) બાળકો પર કṊંોલ

54. શḐદસમૂહ માટ ેએક શḐદ આપો - એક ἒતનુ ંસુગંધી લાકડુ.ં

(A) સાગ (B) મોગરો  (C) ચીલ (D) અગર

55. નીચેનામાથંી કઈ સંધી સાચી છે ?

(A) ન + અન = નયન (B) િન + મય = િનણ᷷ય  (C) િહમ + અલય = િહમાલય

(D) કિવ + ઇḍṑ = કવીḍṑ

નીચેના ગὸાંશન ેઆધાર ેṔὴનṀમાકં 56 થી 60 ના ંઉήર આપો.

 કોઈપણ રાώ ક ેસમાજના િવકાસનો આધાર તેના િશ᷵ણ પર છે. િશ᷵ણ જેટલુ ંસમḋૃધ એટલો 

સમાજ સમḋૃધ. જો કોઈ દેશ ક ેસમાજે િવકાસ સાધવો હોય તો િશ᷵ણને જ Ṕાથિમકતા આપવી પડ.ે 

િશ᷵ણ પાછળ જેટલો Ṕમાણમા ંખચ᷷ કરવામા ંઆવશે, તેટલાથી વધુ Ṕમાણમા ંવળતર મળશે. ગરીબી 

હટાવવા, આરો᷼ય સુધારવા ક ેઅḍય અિનὼો િશ᷵ણ પાછળ ઓછો કર ેછે. આમ ἓવંત રહેવુ ંહોય અન ે
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ઉḉથાન કરવંુ હોય તો િશ᷵ણ જ તમન ેમદદἙપ થશ.ે માટે જ િશ᷵ણ સાથ ેસંકલાયેલ તમામ પાસા ં

ગુણવήાયુ᷺ ત અન ેપૂરતા Ṕમાણમા હોવો જોઈએ, તો જ સવὅદય થશ.ે એ જ ખરી માનવસેવા છે.

56. 'માનવસેવા' ᷺યા Ṕકારનું સામાિસકપદ છે ?

(A) ઉપપદ સમાસ (B) કમ᷷ધાય᷷ સમાસ  (C) તḉપુἘષ સમાસ  (D) ḋવḋંવ સમાસ

57. 'સવὅદય'ની સંધી છૂટી પાડો.

(A) સ + ઉદય  (B) સરવ + ઉદય (C) સવὅ + ઉદય  (D) સવ᷷ + ઉદય

58. નીચેનામાથંી કયો શḐદમા પૂવ᷷ગ લાગેલ છે ?

(A)અિન὾  (B) Ṕાથિમકતા  (C) ગુણવήા (D) સુધારવા

59. ' ઉḉથાન'નો િવરોધી શḐદ કયો છે ?

(A) પતન  (B) ઉ᷿ચ (C) િનḒન (D) મḉૃયુ

60. 'ઝઝૂમવુ'ં એટલ ેશું ?

(A) ઝૂરવંુ  (B) લડવુ ં (C) મૃḉય ુપામવંુ  (D) નાસીપાસ થવું
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- III

- II

61.

(A) (B) 

(C) (D) 

62.

(A) (B) 

(C) (D) 

63.

(A) (B) 

(C) (D) 

64.

(A) (B) 

(C) (D) 

65.

(A) (B) 

(C) (D) 
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66.

(A) (B) 

(C) (D) 

67.

(A) (B) 

(C) (D) 

68.

(A) (B) 

(C) (D) 

69.

(A) (B) 

(C) (D) 
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70.

(A) (B) 

(C) (D) 

71.

(A) (B) 

(C) (D) 

72.

(A) (B) 

(C) (D) 

73.

(A) (B) 

(C) (D) 

74.

(A) (B) 

(C) (D) 

75.

(A) (B) 

(C) (D) 

76.

(A) (B) 

(C) (D) 

77.

(A) (B) 

(C) (D) 

78.

(A) (B) 

(C) (D) 
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79.

(A) (B) 

(C) (D) 

80.

(A) (B) 

(C) (D) 

81.

(A) (B) 

(C) (D) 

82.

(A) 

(B) 

(C) 

(D) 

83.

(A) (B) 

(C) (D) 

84.

(A) (B) 

(C) (D) 

85.

(A) (B) 

(C) (D) 

86.

(A) (B) 

(C) (D) 

87.

(A) (B) 

(C) (D) 
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88.

(A) 

(B) 

(C) 

(D) 

89.

(A) (B) 

(C) (D) 

90.

(A) 

(B) CBSE

(C)

(D)
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SECTION-III

LANGUAGE - II

ENGLISH

There are 30 questions in this section.

All questions are compulsory.

Direction (61-65): Read the following passage carefully and answer the questions given below :

Speed is the hallmark of modern civilization. In this world of cut throat competition, he sets endless

aims. But, success always results from steady pursuit of aim. The work done by fits and starts leads one

nowhere. At a rule, for the proper execution of work, both constancy and steadiness are necessary. A

diligent person is not discouraged by difficulties. He continues to march towards his goal of life. Thus,

he steals a march on a person, who believes that success is sudden and effortless. The haphazard manner

of spending hours on one’s project may not yield satisfactory results. A persistent man keeps his head

cool and achieves his goal steadily. Thus, to be successful, one must move on and on steadily though

slowly. In fact, persistence is a key to success.

61. The linking device "But" used in the third sentence indicates -

(A) Result (B) Comparision

(C) Contrast (D) Addition

62. Difficulties……….discourage a diligent person.

(A) do not (B) does not

(C) has not (D) is not

63. Which of the following cant be inferred from the passage -

(A) Speed is an important characteristics of modern times.

(B) Random effort results in vain.

(C) Persistance does'nt play a a vital role in one's failure.

(D) Slow and steady wins the race.

64. Men are, on average, taller than women. Therefore, Tim is taller than Maria Sharapova.

(A) the fallacy of hasty generalization (B) the fallacy of division

(C) the fallacy of composition (D) the fallacy of false cause

65. Unless she…………with other workers, she will be fired.

(A) co-operate (B) co-operates

(C) does not co-operate (D) does not co-operates
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Direction (66-70) : Read the following Poem carefully and answer the questions given below :

Love is a walk in the rain at night,

Two hands holding onto each other tight;

Love is honey on a pair of lips,

Onto a tender heart it drips;

Love is a soft and gentle touch;

Your heart, a child's hand may clutch,

Love is a song that stains the air,

Dead or not, it's always there;

Love is both the sun and moon,

Across the sky, like stars, it's strewn;

Love is a tree of abundant fruit,

Giving and serving with every new shoot;

Love is a document, faithful and strong,

To one another, now do you belong;

Love is a river that rages with passion,

Finding ways to calm pools no matter the fashion.

66. The first four lines of the poem has rhyme scheme as-

(A) aabb (B) abab

(C) abac (D) babc

67. The first and the third lines of the poem comprise-

(A) alliteration (B) assonance

(C) metaphor (D) simile

68. The poem is about-

(A) river (B) honey

(C) love (D) tree

69. "Love is both the sun and moon,“Across the sky, like stars, it's strewn" Which figure of speech has been

used ?

(A) metaphor (B) simile

(C) metaphor and simile (D) None of these
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70. Which type of love stains the air ?

(A) sun (B) river

(C) tree (D) song

71. This dress suits her style. She ____ definitely like it !

(A) can (B) could

(C) will (D) may

72. When Juan was two, he ____ already speak very well.

(A) might (B) could

(C) can (D) should

73. Don’t try to "throw dust into my eyes". You will not succeed.”““

(A) to protect my eyes (B) blind me with dust

(C) to mislead or confuse me (D) to blind me with dust

74.  A Shakespearean Sonnet usually contains-

(A) seven couplets (B) four stanzas

(C) three couplets and two stanzas (D) three stanzas and a couplet

75. A dirge is-

(A) a eulogy (B) a love poem

(C) a funeral song (D) None of these

76. The number of monophthongs in English is -

(A) 8 (B) 24

(C) 12 (D) 46

77. Which one of the following is not an organ of speech?

(A) Leg (B) Tongue

(C) Vocal chord (D) Lips

78. Which fo the following has /i:/ sound -

(A) knit (B) seat

(C) fit (D) sit
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79. The smallest unit of words" is called -

(A) Phoneme (B) Allophone

(C) Juncture (D) Morpheme

80. Choose the correct transcription for 'pluck' -

(A) /'plack/ (B) /'plæck/

(C) /'pl^k/ (D) None of these

81. Which of the following is suitable for making students responsible for their own learning?

(A) Encouraging students to ask more and more questions“

(B) Using technology to chat and network“

(C) Giving a lot of homework, project work and assignments to improve language skills of students“

(D) Discouraging students from making decisions about how they learn best““

82. A child – centered classroom is characterized-

(A) a variety of learning activities for the learners“

(B) children sitting in the center of the classroom“

(C) very passive teachers and active learners“

(D) children teaching other children under the supervision of the teacher

83. In CLT, the role of the teacher is as -

(A) an instructor (B) an orchestra leader

(C) a monitor (D) a facilitator

84. Receptive skills are-

(A) listening,reading (B) listening,writing

(C) speaking,writing (D) reading,writing

85. Poor handwriting can be the cause of-

(A) dyslexia (B) ADD

(C) ADHD (D) dysgraphia

86. In measurement the first step is-

(A) Marking of the test (B) Administering the test

(C) Development of the test (D) Decision of what to measure
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87. Which is the most widely applicable test item?

(A) Matching (B) M.C.Q

(C) Completion (D) Short answers

88. From the following which domain is concerned with physical and motor skills?

(A) Affective domain (B) Psychomotor domain

(C) Cognitive domain (D) None of the above

89. Home language should be perceived as a/an .... in the teaching of a second language at Primary level-

(A) Problem (B) Obstacle

(C) Impediment (D) Resource

90. Remedial teaching is necessary due to-

(A) poor social status (B) poor memory

(C) poor physique (D) poor background
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- III

- II

61.

(A) (B) 

(C) (D) 

62.

(A) (B) 

(C) (D) 

63.

(A) (B) 

(C) (D) 

64.

(A) (B) 

(C) (D) 

65.

(A) (B) 

(C) (D) 

66.

(A) (B) 

(C) (D) 
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67.

(A) (B) 

(C) (D) 

68.

(A) (B) 

(C) (D) 

69.

(A) (B) 

(C) (D) 

70.

(A) (B) 

(C) (D) 

71.

(A) (B) 

(C) (D) 

72.

(A) (B) 

(C) (D) 

73.

(A) (B) 

(C) (D) 
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74.

(A) (B) 

(C) (D) 

75.

(A) (B) 

(C) (D) 

76.

(A) (B) 

(C) (D) 

77.

(A) (B) 

(C) (D) 

78.

(A) (B) 

(C) (D) 

79.

(A) (B) 

(C) (D) 

80.

(A) (B) 

(C) (D) 

81.

(A) (B) 

(C) (D) 

82.

(A) (B) 

(C) (D) 
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83.

(A) (B) 

(C) (D) 

84.

(A) (B) 

(C) (D) 

85.

(A) (B) 

(C) (D) 

86.

(A) (B) 

(C) (D) 

87.

(A) (B) 

(C) (D) 

88.

(A) (B) 

(C) (D) 

89.

(A) (B) 

(C) (D) 

90.

(A) (B) 

(C) (D) 
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ਖੰਡ-III 

ਭਾਸ਼ਾ- Il 

ਪੰਜਾਬੀ 

ਇਸ ਖੰਡ ਵ ਿੱ ਚ ਕੁਲ 30 ਪਰਸ਼ਨ ਹਨ l 

ਸਾਰ੃ ਪਰਸ਼ਨ ਜਰੂਰੀ ਹਨ l 

61. ਲਰਖਣ ਕ੊ਸ਼ਰ ਦੀ ਲਕਹੜੀ ਲਿਧੀ ਨ ੂੰ  ‘ਭਰਾਹ’ ਲਕਹਾ ਜਾਂਦਾ ਹੈ ?

(A) ਿਾਕ ਲਿਧੀ (B) ਫ੉ਰ ਲਰਖਤ

(C) ਩ ਯਲਨਆਂ ਉੱਤੇ ਲਰਖਣਾ (D) ਅੱਖਯ ਜ ੱ ਟ ਲਿਧੀ

62. ‘ਹੇੜ’ ਸ਼ਫਦ ਨਾਂਿ ਦੀ ਿਨੂੰ ਗੀ ਹੈ

(A) ਆਭ ਨਾਂਿ (B) ਇਕੱਠ ਿਾਚਕ

(C) ਬਾਿ ਿਾਚਕ (D) ਖਾਸ ਨਾਂਿ

63. ਩ੂੰਜਾਫ ਦੀ ਇੱਕ ਉ਩ਫ੉ਰੀ ਲਿੱਚ ‘ਨਾਰ’ ਸ਼ਫਦ ਦੀ ਜਗਹਾ ‘ਗੈਰ’ ਸ਼ਫਦ ਦੀ ਿਯਤੋਂ ਕੀਤੀ ਜਾਂਦੀ ਹੈ l ਕਰਭ ਨਾਰ ਉਸ

ਫ੉ਰੀ ਦਾ ਨਾਂ ਅਤੇ ਉਸ ਸ਼ਫਦ ਦੀ ਿਨੂੰ ਗੀ ਦੱਸ੉-

(A) ਩ ਆਧੀ ਅਤੇ ਮ੉ਜਕ (B) ਦ ਆਫੀ ਅਤੇ ਩ੜਨਾਂਿ

(C) ਭਰਿਈ ਅਤੇ ਮ੉ਜਕ (D) ਩ ਆਧੀ ਅਤੇ ਸੂੰ ਫੂੰ ਧਕ

64. ਸੀਨੀਅਯ ਸੈਕੇਂਡਯੀ ਩ੱਧਯ ਤੇ ਩ੜਹਨ ਦਾ ਆਦਯਸ਼ ਯ ਩ ਕੀ ਹੈ ?

(A) ਫ੉ਰ-ਫ੉ਰ ਕੇ ਩ੜਹਨਾ (B) ਤੇਜੀ ਨਾਰ ਤੇ ਉੱਚੀ ਩ੜਹਨਾਂ

(C) ਭ੉ਨ ਿਾਚਨ (D) ਸਭ ਲਹਕ ਿਾਚਨ

65. ਩ੂੰਜਾਫੀ ਬਾਸ਼ਾ ਅਲਧਆ਩ਨ ਸੂੰ ਫੂੰ ਧੀ ਸਭੱਲਸਆ ਨਹੀ ਹੈ-

(A) ਦ ਜੀਆਂ ਬਾਸ਼ਾਿਾਂ ਿੱਰ ਲਜਆਦਾ ਝ ਕਾਅ (B) ਩ੂੰ ਜਾਫੀ ਨਾਰ ਲ਩ਆਯ ਕਯਨਾ

(C) ਅਲਧਆ਩ਕਾਂ ਰਈ ਟਰੇਲਨੂੰ ਗ ਦੀ ਘਾਟ (D) ਅਸੂੰਤ੉ਖਜਨਕ ਩ਾਠ ਩ ਸਤਕਾਂ

66. ਲਕਹੜਾ ਲਿਸ਼ੇਸ਼ਣ ਲਿਕਾਯੀ ਸ਼ਰੇਣੀ ਦਾ ਨਹੀ ਹੈ ?

(A) ਩ੀਰਾ (B) ਲਸਆਣਾ

(C) ਭ੉ਟਾ (D) ਕ੉ਭਰ

67. ਭੱਧਕਾਰ ਲਿੱਚ ‘ਬਾਸ਼ਾ’ ਸ਼ਫਦ ਰਈ ਲਕਹੜਾ ਸ਼ਫਦ  ਿਯਲਤਆ ਜਾਂਦਾ ਸੀ ?

(A) ਜ ਫਾਨ (B) ਲਰਸਾਨ

(C) ਬਾਖਾ (D) ਲਰੂੰ ਗ ਆ
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68. ‘ਕਯਨਗੀਆਂ’ ਸ਼ਫਦ ਹ-ੈ

(A) ਨਾਂਿ (B)ਲਕਲਯਆ ਲਿਸ਼ੇਸ਼ਣ

(C) ਲਕਲਯਆ (D)ਸੂੰ ਫੂੰ ਧਕ

69. “ਸ ਯਾਂ ਨ ੂੰ  ਩੉ਨੇ” ਅਖਾਣ ਦਾ ਬਾਿ

(A) ਘਟੀਆ ਨ ੂੰ  ਿਧੀਆ ਚੀਜ ਦੇਣੀ (B) ਿਧੀਆ ਨ ੂੰ  ਘਟੀਆ ਚੀਜ ਦੇਣੀ

(C) ਿਧੀਆ ਨ ੂੰ  ਢ ਕਿੀਂ ਇੱਜਤ ਦੇਣੀ (D) ਲਕਸੇ ਿੱਡੇ ਫੂੰ ਦੇ ਦੀ ਫੇਜੱਤੀ ਕਯ ਨੀ

70. ਇੱਕ ਅਲਧਆ਩ਕ ਆ਩ਣੇ ਲਿਲਦਆਯਥੀਆਂ ਦੀ ਸਦਾ ਇਸ ਯ ਩ ਲਿੱਚ ਸਹਾਇਤਾ ਕਯਦਾ ਹੈ ਲਕ ਉਹ ਲਿਸ਼ਾ-ਖੇਤਯ ਇਚ

਩ਰਾ਩ਤ ਲਗਆਨ ਨ ੂੰ  ਦ ਸਯੇ ਲਿਸ਼ਾ-ਖੇਤਯ ਦੇ ਲਗਆਨ ਨਾਰ ਜ੉ੜ ਸਕੇ ?

(A) ਲਨਖੇੜੀਕਯਨ (B) ਲਗਆਨ ਦੇ ਸਲਹ-ਸੂੰਫੂੰ ਧ ਅਤੇ ਅੂੰ ਤਯ-ਲਕਲਯਆ

(C) ਲਿਅਕਤੀਗਤ ਲਬੂੰ ਨਤਾਿਾਂ     (D) ਕ੉ਈ ਨਹੀਂ
ਹ੃ਠ ਵਲਖ੃ ਪ੄ਰਹ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਪਰਸ਼ਨਾਂ (71- 75 ਤਿੱ ਕ) ਦ੃ ਢੁਿੱ ਕ ੇਂ ਵ ਕਲਪਾਂ ਰਾਹੀਂ ਉੱਤਰ ਵਦਓ:

    ਗ ਯ  ਗ੉ਲਫੂੰ ਦ ਲਸੂੰ ਘ ਜੀ ਭਾਨਿਤਾ ਦ ੇਆਸ਼ਕ ਸਨ l  ਉਨਹ ਾਂ ਦਾ ਸੂੰਘਯਸ਼ ਜਾਤੀ ਸੂੰ਩ਯਦਾਇ ਲਿਯ ੱ ਧ ਨਹੀਂ ਸੀ l  ਉਨਹ ਾਂ ਨੇ 

ਲਜਥੇ ਜ ਰਭ ਦੇਲਖਆ ਉਸ ਨ ੂੰ  ਰਰਕਾਲਯਆ, ਉਨਹ ਾਂ ਦੇ ਸੇਿਕਾਂ ਲਿਚ ਹਯ ਧਯਭ ਨ ੂੰ  ਭੂੰਨਣ ਿਾਰੇ ਸਨ l  ਨਫੀ ਖਾਂ ਨੇ ਗਨੀ 

ਖਾਨ ਤੋਂ ਛ ਟ ਉਹ ਩ਠਾਣ ਲਜਸ ਨੇ ਉਨਹ ਾਂ ਤ ੇਕਾਤਰਾਨਾ ਹਭਰਾ ਕੀਤਾ, ਭ ਸਰਭਾਨ ਸਨ l  ਉਨਹ ਾਂ ਛ੉ਟੀ ਲਜਹੀ ਉਭਯ ਲਿੱਚ 

ਆ਩ਣੀ ਫਹ ਩ੱਖੀ ਩ਰਲਤਬਾ ਨਾਰ ਜੀਿਨ ਨ ੂੰ  ਩ਰਬਾਲਿਤ ਕੀਤਾ l ਉਹ ਸੂੰਤ-ਲਸ਩ਾਹੀ ਸਨ l  ਉਨਹ ਾਂ ਦਾ ਸਾਲਹਤ ਅਦ ੱ ਤੀ ਸੀ l  

ਉਨਹ ਾਂ ਦ ੇਦਯਫਾਯ ਲਿੱਚ ਫਿੂੰਜਾ ਕਿੀ ਹ ੂੰ ਦੇ ਸਨ, ਲਜਨਹ ਾਂ ਨ ੂੰ  ਸਾਲਹਤ-ਯਚਨਾ ਰਈ ਉਹ ਉਤਸਾਲਹਤ ਕਯਦ ੇਸਨ l  ਆ਩ ਜੀ 

ਦ ੇਦਯਫਾਯੀ ਕਿੀਆਂ ਦਾ ਯਲਚਤ ਭਣਾਂ-ਭ ੂੰ ਹੀਂ ਸਾਲਹਤ ਘੱਰ ਘਾਲਯਆ ਦੀ ਬੇਟ ਹ੉ ਲਗਆ ਜਾ਩ਦਾ ਹੈ l  ਗ ਯ  ਜੀ ਦੀਆਂ 

ਆ਩ਣੀਆਂ ਯਚਨਾਿਾਂ ਲਿੱਚੋਂ ਜਪਯਨਾਭਾ, ਜਾ਩ ਸਾਲਹਫ, ਅਕਾਰ ਉਸਤਲਤ, ਚੂੰਡੀ ਚਲਯਤਰ ਤੇ ਚੂੰਡੀ ਦੀ ਿਾਯ ਆਲਦ ਫਹ ਤ 

਩ਰਲਸੱਧ ਹਨ l  

71. ਇਨਹ ਾਂ ਚੋਂ ਲਕਹੜੀ ਯਚਨਾ ਗ ਯ  ਗ੉ਲਫੂੰ ਦ ਲਸੂੰ ਘ ਜੀ ਦੀ ਲਰਖੀ ਹ੉ਈ ਨਹੀਂ ਹੈ

(A) ਜਪਯਨਾਭਾ (B) ਜ਩ ਜੀ ਸਾਲਹਫ

(C) ਅਕਾਰ ਉਸਤਤ (D) ਚੂੰਡੀ ਚਲਯਤਰ

72. ‘ਉਤਸ਼ਾਲਹਤ’ ਸ਼ਫਦ ਲਿੱਚ ਲ਩ਛੇਤਯ ਲਕਹੜਾ ਹੈ

(A) ਉ (B) ਉਤਸਾ

(C) ਲਹੱਤ (D) ਇਤ

73. ਗ ਯ  ਗ੉ਲਫੂੰ ਦ ਲਸੂੰ ਘ ਜੀ ਭਾਨਿਤਾ ਦ ੇਆਸ਼ਕ ਸਨ l” ਿਾਕ ਲਿੱਚ ਿਯਲਤਆ ਕਾਰ  ਹੈ -

(A) ਬ ਤ ਕਾਰ (B) ਬਲਿੱਖ ਕਾਰ

(C) ਿਯਤਭਾਨ ਕਾਰ (D) ਸਾਯੇ ਹੀ
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74. ਩ੈਯਹੇ ਲਿੱਚ ਆ਋ ਸ਼ਫਦ ‘ਭਣਾਂ-ਭ ੂੰ ਹੀਂ’ ਦਾ ਅਯਥ ਹੈ

(A) ਭਨ ਦੀ ਸ੉ਚ ਤੋਂ ਿੀ ਲਜਆਦਾ (B) ਭਨ ਅਤੇ ਭ ੂੰ ਹ ਦ੉ਹਾਂ ਤੱਕ ਬਲਯਆ ਹ੉ਇਆ

(C) ਕਈ ਭਣ ਜਾਂ ਫਹ ਤ ਲਜਆਦਾ ਭਾਤਯਾ (D) ਭਾਭ ਰੀ ਲਜਹਾ ਜਾਂ ਫਹ ਤ ਕੂੰ ਭ ਭਾਤਯਾ

75. ਗ ਯ  ਗ੉ਲਫੂੰ ਦ ਲਸੂੰ ਘ ਜੀ  ਨੇ ਹਯਦਭ ਲਕਸ ਨ ੂੰ  ਰਰਕਾਲਯਆ ?

(A) ਧਯਭ ਨੂੰ (B) ਜ ਰਭ ਨੂੰ

(C) ਜਾਤੀ ਸੂੰ ਩ਯਦਾਇ ਨ ੂੰ       (D) ਸਾਲਹਤ ਨੂੰ
ਹ੃ਠ ਵਲਖ੃ ਕਾਵ -ਟ੅ਟ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਪਰਸ਼ਨਾਂ (76 -80 ਤਕ) ਦ੃ ਉੱਤਰ ਵਦਓ

ਆਓ ਸਈਓ  ਯਰ ਲਦਉ ਨੀ ਿਧਾਈ ।

ਭੈਂ  ਫਯ ਩ਾਇਆ ਯਾਂਝਾ ਭਾਹੀ ।

ਅੱਜ ਤਾਂ ਯ੉ਜ ਭ ਫਾਯਕ ਚਲੜਹਆ,

ਯਾਂਝਾ ਸਾਡੇ ਲਿਹੜੇ ਿਲੜਆ,

ਹੱਥ ਖ ੂੰ ਡੀ ਭ੉ਢੇ ਕੂੰਫਰ ਧਲਯਆ,

ਚਾਕਾਂ ਿਾਰੀ ਸ਼ਕਰ ਫਣਾਈ,

ਆਓ ਸਈਓ  ਯਰ ਲਦਉ ਨੀ ਿਧਾਈ ।

ਭ ੱ ਕਟ ਗਊਆਂ ਦ ੇਲਿਚ ਯ ੱ ਰਦਾ,

ਜੂੰਗਰ ਜ ਹਾਂ ਦ ੇਲਿਚ ਯ ੱ ਰਦਾ ।

ਹੈ ਕ੉ਈ ਅੱਰਹਾ ਦ ੇਿੱਰ ਬ ੱ ਰਦਾ,

ਅਸਰ ਹਕੀਕਤ ਖਫਯ ਨਾ ਕਾਈ,

ਆਓ ਸਈਓ ਯਰ ਲਦਉ ਨੀ ਿਧਾਈ ।

76. ਇਸ ਕਲਿਤਾ ਲਿੱਚ ਲਫਆਨ ਕੀਤਾ ਲਗਆ ਹੈ

(A) ਆ਩ਣੇ ਲਿਛੜੇ ਗ ਯ  ਦੀ ਲਭਰਾ਩ ਘੜੀ ਨੂੰ (B) ਲਯਸਤੇਦਾਯ ਆਉਣ ਦੇ ਸਭੇ ਨੂੰ

(C) ਲਤਓਹਾਯ ਭਨਾਉਣ ਦੇ ਸਭੇਂ ਨੂੰ (D) ਨ੊ ਕਯ ਲਭਰਣ ਦੇ ਸਭੇਂ ਨੂੰ

77. ਇਸ ਕਾਲਿ-ਟ੉ਟੇ ਦਾ ਲਸਯਰੇਖ ਹੈ

(A) ਫਸ ਕਯ ਜੀ ਹ ਣ ਫਸ ਕਯ ਜੀ (B) ਕ੉ਣ ਸਾਲਹਫ ਨ ੂੰ  ਆਖੇ

(C) ਆਓ ਸਈਓ ਯਰ ਲਦਉ ਨੀ ਿਧਾਈ (D) ਚਾਨਣ ਦੀ ਪ ਰਕਾਯੀ

78. ਇਸ ਯਚਨਾ ਲਿੱਚ ਲਕਹੜੇ ਯਸ ਦੀ ਿਯਤੋਂ ਕੀਤੀ ਗਈ ਹੈ

(A) ਯ੉ਦਯ (B) ਿੀਯ

(C) ਲਸ਼ੂੰ ਗਾਯ (D) ਕਯ ਣ
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79. ਇਸ ਕਲਿਤਾ ਲਿੱਚ ਕਿੀ ਨੇ ਆ਩ਣੇ ਆ਩ ਨ  ਦਯਸ਼ਾਇਆ ਹੈ

(A) ਯਾਂਝਾ ਯ ਩ (ਭਯਦ) (B) ਨ੊ ਕਯ ਯ ਩ (ਭਯਦ)

(C) ਹੀਯ ਯ ਩ (ਇਸਤਯੀ) (D) ਸਹੇਰੀ ਦੇ ਯ ਩ (ਇਸਤਯੀ)

80. ਹੱਥ ਖ ੂੰ ਡੀ ਭ੉ਢੇ ਕੂੰ ਫਰ ਧਲਯਆ l ਤ ੱ ਕ ਲਿੱਚ ਕਰਭ ਨਾਰ ਲਕੂੰ ਨੇ ਿਯਨ ਅਤੇ ਭਾਤਯਾਿਾਂ ਹਨ

(A) 12, 18 (B) 18, 12

(C) 12, 19 (D) 12, 16

81. ਲਕਹੜਾ ਸ਼ਫਦ ਸ਼ ੱ ਧ ਨਹੀ ਹੈ

(A) ਅਲਧਅ਩ਕਾ (B) ਲਸ਩ਾਹੀ

(C) ਇਕਹੈਯਾ (D) ਘ ਲਭਆਯ

82. ਲਜਸ ਦੀ ਫਯਾਫਯੀ ਨਾ ਹ੉ ਸਕੇ” ਸ਼ਫਦਾਂ ਦੇ ਇਕੱਠ ਰਈ ਩ੈਯਹੇ ਲਿੱਚ ਆਇਆ ਢ ਕਿਾਂ ਸ਼ਫਦ ਚ ਣ੉

(A) ਸ਼ਾਭਰਾਟ (B) ਘੱਰ ਘਾਯਾ

(C) ਫਹ ਩ੱਖੀ (D) ਅਦ ੱ ਤੀ

83. ਤ ਸੀਂ ਘੜੀ-ਭ ੜੀ ਚਰੇ ਜਾਂਦੇ ਹ੉ l ਿਾਕ ਲਿੱਚ ਿਯਤੇ ਲਕਲਯਆ ਲਿਸ਼ੇਸ਼ਣ ਦਾ ਩ਰਕਾਯ ਹੈ

(A) ਤਾਕੀਦ ਿਾਚਕ (B) ਸੂੰ ਲਖਆ ਿਾਚਕ

(C) ਩ਲਯਭਾਣ ਿਾਚਕ (D) ਕਾਰ ਿਾਚਕ

84. ਭ੊ਲਖਕ ਬਾਸ਼ਾ ਦੇ ਭ ਰਾਂਕਣ ਦਾ ਸਬ ਤੋਂ ਿਧੀਆਂ ਤਯੀਕਾ ਹੈ

(A) ਲਕਤਾਫ ਩ੜਹਨਾ (B) ਫ੉ਰ ਲਰਖਤ

(C) ਩ਰਸ਼ਨਾਂ ਦਾ ਸੀਲਭਤ ਉੱਤਯ ਦੇਣ (D) ਅਨ ਬਿ ਿੂੰਡਣਾ ਅਤੇ ਗਰਫਾਤ ਕਯਨਾ

85. ਲਰਖਤ ਯਚਨਾ ਲਿੱਚ ਫਲਚਆਂ ਨ ੂੰ  ਇੱਕ ਸ਼ਫਦ ਲਰਖਣਾ ਦਲਸਆ ਜਾਂਦਾ ਹੈ ਪੇਯ ਉਸ ਸ਼ਫਦ ਲਿੱਚ ਿਯਤੇ ਅੱਖਯਾਂ ਦੀ

ਅੱਗੇ-ਲ਩ੱਛੇ ਿਯਤੋਂ ਨਾਰ ਹ੉ਯ ਸ਼ਫਦ ਫਣਾ਋ ਜਾਂਦੇ ਹਨ l  ਲਕਹੜੀ ਲਿਧੀ ਨਾਰ ਸੂੰ ਫਲਧਤ ਹੈ ?

(A) ਿਾਕ ਲਿਧੀ (B) ਭਾਂਟੇਸਯੀ ਲਿਧੀ

(C) ਩ਰਸਥਾ਩ਨ ਲਿਧੀ (D) ਩ੇਸਤ੉ਰ੉ਜੀ ਲਿਧੀ

86. ਲਕਹੜੀ ਉ਩ਫ੉ਰੀ ਲਿੱਚ ‘ਅਨੂੰ ਦ ਕਾਯਜ’ ਨ ੂੰ  ‘ਨੂੰ ਦ ਕਾਯਜ’ ਅਤੇ ‘ਅਨਾਜ’ ਨ ੂੰ  ‘ਨਾਜ’ ਫ੉ਲਰਆ ਜਾਂਦਾ ਹੈ ?

(A) ਦ ਆਫੀ (B) ਭਰਿਈ

(C) ਭਾਝੀ (D) ਩ ਆਧੀ

87. ਅਲਧਆ਩ਕ ਦਾ ਸਾਥੀ ਭੂੰ ਲਨਆ ਜਾਂਦਾ ਹੈ

(A) ਅਖਫਾਯ (B) ਚਾਯਟ

(C) ਕਾਰਾ ਤਖਤਾ (D) ਸਭਾਯਟ ਪ੉ਨ
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88. ਜ੉ਸਪ ਜੇ.ਿੇਫਯ ਅਨ ਸਾਯ ਲਕੂੰ ਨੇ ਪੀਸਦੀ ਲਗਆਨ ਅੱਖਾਂ ਯਾਹੀਂ ਗਰਲਹਣ ਕੀਤਾ ਜਾਂਦਾ ਹੈ ?

(A) 17 ਪੀਸਦੀ (B) 40 ਪੀਸਦੀ

(C) 25 ਪੀਸਦੀ (D) 3 ਪੀਸਦੀ

89. ਩ੂੰਜਾਫੀ ਲਿਸ਼ੇ ਦਾ ਅਲਧਆ਩ਕ ਆ਩ਣੇ ਲਿਸ਼ੇ ਦਾ ਭਾਲਹਯ ਅਤੇ ਲਭਹਨਤੀ ਹ੉ਣ ਦੇ ਨਾਰ-ਨਾਰ ਹ੉ਣਾ ਚਾਹੀਦਾ ਹੈ -

(A) ਫਹ ਤ ਲਜਆਦਾ ਕਠੋਯ (B) ਫਹ ਤ ਲਜਆਦਾ ਉਦਾਯ

(C) ਸ ਲਹਯਦ ਅਤੇ ਸਭਝਦਾਯ (D) ਿਹਭਾਂ ਤੇ ਪਲਸਆ ਹ੉ਇਆ

90. ਯਾਜਸਥਾਨ ਸਯਕਾਯ ਦ ਆਯਾ ਕ੉ਯ੉ਨਾ ਦੇ ਰਾਕਡਾਉਨ ਕਾਰ ਲਿੱਚ ਸਕ ਰੀ ਫੱਲਚਆਂ ਦੀ ਲਸੱਲਖਆ ਰਈ ਚਰਾ਋ ਜਾ ਯਹੇ

‘ਸਭਾਈਰ ਩ਰ੉ਗਯਾਭ’ ਦੇ ਤਲਹਤ ਲਕਹੜੇ ਸਹਾਇਕ ਸਾਧਨ ਦੀ ਭ ੱ ਖ ਤ੉ਯ ਤੇ ਿਯਤੋਂ ਕੀਤੀ ਜਾ ਯਹੀ ਹੈ-

(A) ਰੈ਩ਟ੉਩ (B) ਸਭਾਯਟ ਪ੉ਨ

(C) ਕੂੰ ਲ਩ਊਟਯ (D) ਸਕ ਰ ਦੀ ਜਭਾਤ
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ખંડ - |||

ભાષા - ||

ગુજરાતી 

આ ખંડમા ંકુલ 30 Ṕὴનો છે.  

દરેક Ṕὴનનો જવાબ આપવો ફરિજયાત છે.

નીચે આપેલ પὸાંશને આધારે Ṕὴન Ṁમાકં 61 થી 65ના જવાબ આપો

રંગભરી સંḌયાનો સંગ; 

સૃિὼનો છલકે ઉછરગં;

એક પાંખ ગીરીએ ને બીἓ વાદળમા,ં 

આંખોમાં ઊભરે ઉમંગ 
ὥડે ગἘડ રંગ ચંચુએ ચૂગતા, 

રમતા અનંતને ઉછંગ, 

રંગભરી સંḌયાને સંગ  

61. કાḗયની Ṕથમ બે પંિ᷺તમા ં᷺યા અલંકારનો ઉપયોગ થયો છે ?

(A) ઉપમા (B) ḗયાજḚતુિત  (C) અḉંયાનṔુાસ  (D) અનḍવય

62. કાḗયમા ંમુ᷻ ય કોની વાત કરવામા ંઆવી છે ?

(A) સḌંયા  (B) સૃિὼ  (C) ગἘડ  (D) વાદળ

63. 'િગἵર' એટલે શું ?

(A) પવ᷷ત (B) િગરનાર  (C) આકાશ  (D) ગજરાજ

64. 'ઉછરંગ' શḐદનો અથ᷷ કાḗયના આધારે આપો.

(A) ઉભરાવવંુ (B) કḕપના (C) સંગાથ  (D) આનંદ
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65. આ કાḗયને કયું શીષ᷷ક વધુ યો᷼ય ગણાય?

(A) રમતા અનંતને (B) ઊડે ગἘડ  (C) રંગભરી સંḌયા  (D) છલકે ઉછરંગ

66. “ ચકોર” નું િવરોધી શું થાય ?

(A) હોિશયાર (B) જડ (C) મંદ (D) િḚથર

67. “ કૂંચી” શḐદનો અથ᷷ જણાવો.

(A) ઘાસ (B) ભંડાર (C) ચાવી (D) મહોḕલો

68. એકસરખી ઉમર ધરાવતા અને શારીἵરક તથા માનિસક િવકાસમાં સાḒય ધરાવતા બાળકોન ેશું કહેવાય ?

(A) સમોવἵડયા (B) સહાḌયાયી (C) સહપાઠી (D) એકવἵડયા

69. મḕૂયાંકન ḋવારા શું માપન થવું જોઈએ ?

(A) િવὸાથὁની બુિḋધ (B) શૈ᷵િણક હેતુ (C) િવષયવḚતુ (D) િવὸાથὁની યાદશિ᷺ત

70. પૂવ᷷᷶ાનનો ઉપયોગ ᷺યા કૌશḕયમા ંકરવામાં આવે છે ?

(A) ઉદાહરણ (B) િવષયાિભમુખ (C) Ḛપὼીકરણ (D) Ṕὴન Ṕવાિહતા

71. િવὸાથὁના મḕૂયાકંનની ṝે὾ Ṕḋધિત કઈ છે ?

(A) માિસક મૂḕયાંકન  (B) અશા᷷વાἿશક મḕૂયાકંન

(C) વાἿષક મḕૂયાકંન (D) સતત મḕૂયાકંન

72. ‘રમેશ ગાય છે ḁયાર ેિનમેશ વાચંે છે’  એ કેવા Ṕકારનું વા᷺ય છે ?

(A) સાદંુ વા᷺ય  (B) પૂણ᷷ વા᷺ય (C) સયુ᷺ ય વા᷺ય (D)  િવિધ વા᷺ય

73. પાḅયપુḚતકમાં નીચેનામાંથી કઈ બાબતનો સમાવેશ થઇ શકે ?

(A) ચાટ᷷ (B) િચṏ (C) ભἸતપṏ (D) મોડેલ
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74. મḕૂયાંકનનો કયો હેતુ સૌથી મહḉવનો છે ?

(A) ભાષા᷶ાનની ચકાસણી (B) હેતુઓની િસિḋધ

(C) િવષયવḚતુનું ᷶ાન (D) િશ᷵કની કુશળતા

75. િવὸાથὁનાં સવાὑગી િવકાસ માટે શું જἙરી છે  ?

(A) સાḚંકૃિતક Ṕવૃિતઓ  (B) ઉ᷿ચ-ક᷵ાનો અḑયાસṀમ

(C) રમત – ગમતની Ṕવૃિήઓ (D) ઉપરનાં બધા જ

76. ‘કેવંુ સુંદર ચંṑ !’ વા᷺યનો Ṕકાર જણાવો. ?

(A) સાદંુ વા᷺ય  (B) ઉḋગાર વા᷺ય  (C) આ᷶ાથ᷷ વા᷺ય  (D) િવિધ વા᷺ય

નીકચેનો ગὸાંશ વાંચીને, તેની નીચે પૂછેલા Ṕὴનોના ઉήર લખો.

િવὸા મેળવવાનો આધાર કેવળ િવὸાલય પર જ નથી હોતો, મુ᷻ યḉવે કરીને િવὸાથὁ ઉપર હોય છે. 

ઘણા િવὸાથὁઓ િવὸાલયમાં ἒય છે એટલુજ નિહ ઉપાધી પણ મેળવે છે. છંતા િવὸા પામતા નથી.તેજ 

Ṕમાણે તીથ᷷ કરવા તો ઘણા ἒય છે. પણ તીથ᷷નું સાચું ફળ બધા મેળવી શકતા નથી.  જેઓ જોવાની વḚતુ 

જુએ નિહ, મેળવવાની વḚતુ લે નિહ તેમની િવὸા આખર સુધી પોથીમા ંજ રહે છે અને ધમ᷷ Ṗાύ આચરણમા ં

પુરાઈ રહે છે ખરા પણ જવાને તેઓ પુḈય માને છે પામવાને નિહ. તેઓ અમુક જળ અથવા અમુક માટીમા ં

કોઈ િવશેષ ગુણ રહેલો છે. એથી માણસનું લ᷵ ṗὼ થાય છે. આખા દેશમા ંસાધાનામાἕંત, િચήશિ᷺ત જેમ –

જેમ મિલન થતી ગઈ તેમ-તેમ આ િનથ᷷ક Ṗાύતા વધતી ગઈ તે વાત કબૂલ કરવી જ પડશે. 

 રિવḍṑનાથ ટાગોર 

77. તીથ᷷મા ંજનાર બધા કેમ સાચું ફળ મેળવી શકતા નથી ?

(A) વḚતુ જુવે નિહ  (B) વḚતુ મેળવે નિહ (C) A સાચંુ B ખોટું (D) A અને B

78. સાચા અથ᷷માં િવὸા ṔાḎત ન કરનાર માટે ટાગોર ેશું કύું છે. ?

(A) માણસ ṗὼ થાય (B) બાḛḓતા વધતી ἒય (C) િચή શિ᷺ત વધે (D) મલીન થાય
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79. િવὸા મેળવવાનો આધાર કોની ઉપર હોય છે ?

(A) િવὸાલય  (B) િવὸાથὁ  (C)િવὸાલય અને િવὸાથὁ (D) કોઈ નિહ

80. ધમ᷷ એ કેવા આચરણમા ંપુરાઈ રહે છે ?

(A) બાύ(B) આંતἵરક  (C) માણસમા ં(D) ધમ᷷Ḛથાનમાં

81. જેઓ જુવાની વḚતુ જુવે નિહ ḉયારે િવὸા આખર ે ᷺યા રહે છે. ?

(A) સાધનામાં (B)પોથી (C)  બાύ (D) આંતἵરક

82. ઉપરો᷺ત ગὸાંશ નાં લેખક કોણ છે ?

(A) સરḚવતી ટાગોર(B)રવીḍṑનાથ ટાગોર (C) બṑીનાથ ટાગોર(D)રાજેḍṑἶસહ ટાગોર

83. ' જે ᷶ાનનું બારἛં બની જશ.ે' વા᷺ય ᷺યા કાળમાં છે ?

(A) વત᷷માન  (B) ભૂતકાળ  (C) ભિવḙય  (D) પૂણ᷷કાળ

84.' સતત ἶચતન કરવંુ પડ'ેમા િવશેષણ કયું પદ છે ?

(A) સતત  (B) ἶચતન  (C) કરવંુ  (D) પડે

85. નીચેનામાંથી કયો શḐદ તḉસમ શḐદ છે ?

(A) તમḍના  (B) ઇ᷿છનીય  (C) બારἛં  (D) ફેસબુક

86. નીચેનામાંથી કયા શḐદને Ṕḉયય લાગેલો છે ?

(A) ગેરહાજર  (B) વણકર  (C) પુરાતન  (D) કમજોર

87. 'તે સુંદર હતી ____ તેથી સૌ તેને જોવા આḗયા' ___ ખાલી જ᷼યામા ંયો᷼ય િવરામિચḛન મૂકો.

(A) ! (B) ,  (C) ;  (D) :

88. િશ᷵ણની ṔἵṀયાનું ṔḚથાનἶબદુ શું હોવું જોઈએ ?

(A) િશ᷵કનાં િવચારો  (B) શૈ᷵િણક હેતુ  (C) િવષયવḚતુ  (D) લેખકનો પἵરચય
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89. શḐદકોશ એ ᷺યા Ṕકારનું શૈ᷵િણક સાધન કહેવાય ?

(A) ṝાḗય (B) અḚપૃḘય (C) ṑḘય  (D) ṑḘય-ṝાḗય

90. કિવતા એ આંખથી નિહ, પણ __ થી પામવાની છે.

(A) હોઠ (B) નાક  (C) ἓભ  (D) કાન
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SECTION-IV

- IV

MATHEMATICS

There are 30 questions in this section.

All questions are compulsory.

91. Decimal form of an irrational Number will be ?

(A) Terminating decimal number (B) Recurring non terminating decimal number

(C) Non recurring non terminating decimal number (D) None of these

(A) (B) 

(C) (D) 

92. Multiplication of 5 & 2 place value of 4570.321 will be-

(A) (B) 

(C) (D) 

(A) (B) 

(C) (D) 

93. Two times the greater number is 3 than 5 times the smaller number and the sum of 4 times the greater

and 3 times the smaller is 71. Calculate the numbers.

(A) (B) 

(C) (D) 

(A) (B) 

(C) (D) 
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94. A number of 6 digits consists of 1 single number 6 times. The number will not be divisible by-

(A) (B) 

(C) (D) 

(A) (B) 

(C) (D) 

95. If
5

4
,

15

11
,

11

9
,

30

23
,

3

2
are written in ascending order then the fraction in the middle will be-

(A)
30

23
(B)

5

4

(C)
3

2
(D)

15

11

5

4
,

15

11
,

11

9
,

30

23
,

3

2

(A)
30

23
(B)

5

4

(C)
3

2
(D)

15

11

96. Denominator of  two fractions is 7 and 9. Sum of these fractions is 
63

55
. If We change the numerators.

The sum becomes 
21

19
 The two fractions are-

(A)
9

5
,

7

4
(B)

9

4
,

7

5

(C)
9

4
,

7

3
(D)

9

7
,

7

4

63

55

21

19

(A)
9

5
,

7

4
(B)

9

4
,

7

5

(C)
9

4
,

7

3
(D)

9

7
,

7

4
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97. In the given figure l and m are parallel and p and q are parallel. Then 3  and 5 will be-

(A) Pair of alternate angles

(B) Pair of interior angles
1

2
3

45

6

7
8

l

m

p

q

(C) Pair of vertically opposite angles

(D) Pair of corresponding angles

l m  p q 3 5
(A) 

(B) 

(C) 

1
2

3
45

6

7
8

l

m

p

q

(D) 

98. Calculate prime factors of 2112 × 2317 × 2519  ?

(A) 48 (B) 79

(C) 74 (D) 96

2112 × 2317 × 2519

(A) 48 (B) 79

(C) 74 (D) 96

99. Ratio between 2 numbers is 5 : 7 and their LCM is 420. Find out the difference between the numbers-

(A) 6 (B) 12

(C) 24 (D) 36

(A) 6 (B) 12

(C) 24 (D) 36

100. If 2 numbers have LCM = 756 and HCF = 12. If first number is 108 find the other.

(A) 84 (B) 96

(C) 132 (D) 156

 756  12

(A) 84 (B) 96

(C) 132 (D) 156
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101. Average of 3 numbers is 16. If first and 2nd have an average of 17 and 2nd and third have average 15. Find

the second number-

(A) 14 (B) 16

(C) 18 (D) 20

(A) 14 (B) 16

(C) 18 (D) 20

102. By selling 80 articles, loss incurred was equivalent to selling priceof 20 articles. Find the loss percentage-

(A) 20% (B) 25%

(C) %
3

1
33 (D) %

3

2
66

%

(A) 20% (B) 25%

(C) %
3

1
33 (D) %

3

2
66

103. A loss of 30% incurred by selling on article for 91 Rs. Find the cost price ?

(A) 100 Rs. (B) 110 Rs.

(C) 120 Rs. (D) 130 Rs.

30% 

(A) (B) 

(C) (D) 

104. A simple interest for an amount is 1/4 of principle. Calculate the Rate of interest if rate of interest is

equivalent to time-

(A) 4% (B) 5%

(C) 8% (D) 16%

4

1

(A) 4% (B) 5%

(C) 8% (D) 16%
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105. 24 people can complete a work in 39 days by working 8 hours per day. If 26 people work for 12 hours

per day, calculate the time in which the work can be done.

(A) 8 (B) 16

(C) 18 (D) 24

(A) 8 (B) 16

(C) 18 (D) 24

106. If the angle of a parallelogram is 15º less than twice of its adjacent angle then what will be the value of

the greater adjacent angle ?

(A) 65º (B) 75º

(C) 115º (D) 130º

º15

(A) 65º (B) 75º

(C) 115º (D) 130º

107. In the given figure º70B  and º50C  . AQ bisects CAP equally. . BCAP  then PAQ = ?
A

B CP Q

(A) 5º (B) 10º

(C) 15º (D) 20º

º70B  º50C  AQ CAP BCAP 
PAQ

A

B CP Q

(A) 5º (B) 10º

(C) 15º (D) 20º
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108. AOB is diameter of the circle. If º40ABC  then calculate BAC .

BA

C

O

(A) 40º (B) 50º

(C) 90º (D) 10º

AOB º40ABC  BAC

BA

C

O

(A) 40º (B) 50º

(C) 90º (D) 10º

109. A tank has 18 litre 750 mililitre milk. This can be poured completely in 25 jars. Find volume of every jar.

(A) 1 L 250 ml (B) 750 ml

(C) 650 ml (D) 725 ml

(A) 1 250 (B) 750

(C) 650 (D) 725

110. A rectangle has a diagonal equal to 26 cm. The perimeter of rectangle is 68 cm. Calculate its square.

(A) 120 (B) 240

(C) 360 (D) Cannot be predicted

(A) 120 (B) 240

(C) 360 (D)
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111. According to NCF 2005, what should not be included in curriculum of mathematics at primary level ?

(A) Number system (B) Basic calculation

(C) Fraction Related Calculation (D) Linear equation

NCF-2005

(A) (B) 

(C) (D) 

112. Mathematics is study or science of which of the following-

1. Numbers 2. Figures 3. Quantity 4. Structural Change

(A) Only 1 & 3 (B) Only 1, 2 & 3

(C) Only 1 (D) 1, 2, 3, 4

(A) (B) 

(C) (D) 

113. "Mathematical knowledge has a definate and solid basis". This statement reflects which nature of

mathematics ?

(A) Difficulty (B) Logicality

(C) Critically (D) Analogically

(A) (B) 

(C) (D) 

114. A child solves following question through a riddle or game of numbers. This example shows which

aspect of mathematics.

1 × 9 + 2 = 11

12 × 9 + 3 = 111

123 × 9 + 4 = 1111

1234 × 9 + 5 = 11111

12345 × 9 + 6 = ?

(A) Cultural value (B) Aesthetic value

(C) Intellectual value (D) Practical value
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1 × 9 + 2 = 11

12 × 9 + 3 = 111

123 × 9 + 4 = 1111

1234 × 9 + 5 = 11111

12345 × 9 + 6 = ?

(A) (B) 

(C) (D) 

115. Choose the correct statement.

(A) Sign  is called Tally Mark. (B)Histogram shows continuous frequency distribution.

(C) (A), (B) both are correct (D) (A), (B) both are incorrect

(A) (B) 

(C) (A), (B) (D) (A),(B)

116. Which is a part of mathematical language-

(A) sign (B) formula

(C) Number variable (D) All of the above

(A) (B) 

(C) (D) 

117. Which of the following is not a reason behind fear of maths-

(A) Logical nature of maths (B) Cummulative nature of maths

(C) Dominance of symbolic language in text books (D) Structural problems in Education

(A) (B) 

(C) (D) 

118. Which of the following is not teaching formula of inductive method -

(A) Unknown to known (B) Specific to general

(C) Gross to fine (D) Example to rule

(A) (B) 

(C) (D) 
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119. Which questions have lowest probability of guessing-

(A) Alternate Response (B) Analogy

(C) Classified form (D) General Recall

(A) (B) 

(C) (D) 

120. Which of the following is not a fundamental theory of remedial teaching ?

(A) Taking inaccount the level of student

(B) Students should be informed of their progress

(C) Only class level should be seen

(D) Students should be motivated

(A) 

(B) 

(C) 

(D)
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SECTION - V

- V

ENVIRONMENTAL STUDIES

There are 30 questions in this section.

All questions are compulsory.

121. Which statement is false regarding family?

(A) Most of the families in the village live jointly.

(B) Being in a joint family, children know family relationships.

(C) Everyone in the family has the same interest and choice.

(D) Individuals also work on the basis of their characteristics and cooperate financially at home.

(A) 

(B) 

(C) 

(D) 

122. Fatty liver disease is caused by the consumption of which of the following drugs?

(A) Tobacco (B) Opium

(C) Wine (D) Charas

(A) (B) 

(C) (D) 

123. Example of animal fiber is -

(A) Cotton (B) Nylon

(C) Wool (D) Jute

(A) (B) 

(C) (D) 
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124. Swachh Bharat Mission launched in India -

(A) 2 Octomber 2014 (B) 25 September 2014

(C) 2 Octomber 2015 (D) 25 September 2015

(A) (B) 

(C) (D) 

125. The major center of gems and jewelery industry in Rajasthan is -

(A) Kota (B) Jaipur

(C) Pratapgarh (D) Bhiwadi

(A) (B) 

(C) (D) 

126. The standard mark set for the quality of gold and silver jewelery is -

(A) Agmark (B) Hallmark

(C) ISI mark (D) FPO mark

(A) (B) 

(C) ISI (D) FPO

127. The top-most tier of Panchayati Raj System is -

(A) Gram Sabha (B) Gram Panchayat

(C) Panchayat Samiti (D) Zilla Parishad

(A) (B) 

(C) (D) 

128. Mahavir Swami's birth anniversary is celebrated on -

(A) Vaishakh Poornima (B) Chaitra Shukla Triyodashi

(C) Bhadrapad Shukla Chaturdashi (D) Chaitra Krishna Triyodashi

(A) (B) 

(C) (D) 
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129. Which special dish prepared on the occasion of Hariyali Amavasya in Mewar.

(A) Lapsi (B) Malpua

(C) Balushahi (D) Panchdhari Laddu

(A) (B) 

(C) (D) 

130. Jaipur city was built under the direction of which Bengali architect?

(A) Ramnath (B) Vidyadhar

(C) Gopal Nath (D) Sarangdhar

(A) (B) 

(C) (D) 

131. In which fort is Trinetra Ganesh temple located?

(A) Kumbhalgarh (B) Mehrangarh

(C) Chittorgarh (D) Ranthambore

(A) (B) 

(C) (D) 

132. The following traffic signal means :

(A) Cross Road (B) No Vehicle Parking

(C) Entry Prohibited (D) Road is closed

(A) (B) 

(C) (D) 
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133. In which part of the tongue are the taste buds found for the experience of bitter taste -

(A) Fore side (B) Back Part

(C) Lateral side (D) Tip of  Tongue

(A) (B) 

(C) (D) 

134. The major source of protein in human diet is -

(A) Cereals (B) Pulses

(C) Vegetables (D) Sugar

(A) (B) 

(C) (D) 

135. Dengue and malaria diseases spread respectively -

(A) Female anopheles and male anopheles (B) Male anopheles and aedes

(C) Aedes and female Anopheles (D) Aedes and male anopheles

(A) (B) 

(C) (D) 

136. Which of the following statements about the cell is false -

(A) The cell is the structural and functional unit of an organism.

(B) The cell contains the genetic properties of organisms.

(C) Mitochondria is called the powerhouse of the cell.

(D) None of these

(A) 

(B) 

(C) 

(D)
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137. The land preserved in the name of Lok Devta, Lok Devi, Saint etc. is called -

(A) Gochar (B) Charagah

(C) Oran (D) All of these

(A) (B) 

(C) (D) 

138. What types of forests are found in areas with high rainfall and high temperature?

(A) Tropical Evergreen (B) Subtropical dry deciduous

(C) Moist Deciduous (D) Alpine

(A) (B) 

(C) (D) 

139. Conversion of water vapor into water is called -

(A) Vaporization (B) Condensation

(C) Boiling (D) Sublimation

(A) (B) 

(C) (D) 

140. Fatehsagar Lake is located at -

(A) Udaipur (B) Alwar

(C) Ajmer (D) Pushkar

(A) (B) 

(C) (D) 

141. Which is the nearest planet to the sun.

(A) Mars (B) Mercury

(C) Jupiter (D) Venus

(A) (B) 

(C) (D) 
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142. First Indian woman mountaineer to climb the Alaska's Mckinley Peak in North America -

(A) Santosh Yadav (B) Premlata Agarwal

(C) Sangeeta Bahl (D) Bachendri Pal

(A) (B) 

(C) (D) 

143. Environmental studies is the study of the interactions between man and his entire environment. this

statement -

(A) James Hemming (B) Dr. Dave

(C) NCF-2005 (D) NCERT

(A) (B) 

(C) NCF-2005 (D) NCERT

144. An international conference was held in Belgrade in October 1975 in which the objectives of

environmental education were set. Which of the following are these objectives -

(A) awareness and knowledge (B) Knowledge, Skills and Division

(C) knowledge, aptitude, skill and aptitude (D) Knowledge, awareness, skill, attitude and analysis

(A) (B) 

(C) (D) 

145. The technical criterion of perfect test is -

(A) frugality (B) simple in administration

(C) intelligibility (D) comprehensiveness

(A) (B) 

(C) (D) 
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146. According to which learning principle, the teacher makes use of the knowledge of another subject to

make his subject very clear so that the content is fully acceptable to the children -

(A) principle of frequency (B) principle of selection

(C) principle of concord (D) principle of utility

(A) (B) 

(C) (D) 

147. Which of the following not a type of playing method -

(A) Dalton method (B) Play-way method

(C) Role playing method (D) Kindergarten Method

(A) (B) 

(C) (D) 

148. Which of the following educationist gave the classification of project method-

(A) Stevenson (B) Kilpatrick

(C) John Dewey (D) Thorndike

(A) (B) 

(C) (D) 

149. Which activities are doing under the subject of environment?

(A) educational activities

(B) educational and co-educational activities

(C) educational, co-educational and extra-curricular activities

(D) None of these

(A) (B) 

(C) (D) 

150. Fullform of ICT is -

(A) Information and communication technology (B) Information and computer technology

(C) Innovative and communication technology (D) None of these

(A) (B) 

(C) (D) 
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Kalam RAS Foundation Programme

T ह�त�ल�खत नो�स उपल�ध ह�ग े ।

T �ार�ं भक एव ंम�ुय परी�ा म � समसाम�यक घटनाओ ंपर पछेू जान ेवाल े��� पर आधा�रत (Monthly Kalam Current 

Affairs) मा�सक कलाम समसाम�यक� उपल�ध होगी ।

T ��त�दन 4-5 घटें क� �नय�मत क�ाए ं ।

D  क�ाओ ंके सचंालन के साथ-साथ ही गणुव�ापणू � अ�ययन साम�ी उपल�ध करवाई जाएगी ।Quality Study Material :

T पवू � �नधा�� रत समय-सारणी के अनसुार सभी क�ाओ ंका सचंालन ।

D  यह एक ऑफलाइन क�ा काय�� म ह ैजो हमार े सीकर एव ंजयपरु क� � पर सचंा�लत होगा ।Classroom Programme :-

D  परी�ा क� तयैारी Pre cum Mains Preparation(�ार�ं भक-सह- म�ुय परी�ा) के तहत 15 महीन � म �Course Duration :

करवाई जाएगी ।

T Final Tests: कोस � क� अव�ध म � स�पणू � पा��म पणू � होन ेके प�ात् �नय�मत Final Tests का आयोजन होगा ।

T इसी �कार म�ुय परी�ा क� द�� स ेसभी �� प�� के पा��म अनसुार मह�वपणू � टॉ�प�स को टा�क के �प म � तयैार ृ

करवाया जायगेा उदाहरणतः जसै ेम�ुय परी�ा के चतथु� पपेर : सामा�य �हदंी एव ंसामा�य अ�ंजेी म � सामा�य �हदंी म � श�द 

य�ुम,पयाय� वाची तथा सामा�य अ�ंजेी म � Antonyms ,One Words आ�द को टा�क के �प म � �व�ाथ� को �दए जायग�  े

एव ंयाद करवाया जायगेा �जसस े इन टॉ�प�स पर अ�छी पकड़ �वक�सत हो ।

T �ार�ं भक परी�ा क� द�� स ेपा��म अनसुार कुछ टॉ�प�स जसै े : राज�ान क� कला एव ंस�ंकृ�त म � शा�मल टॉ�प�स - ृ

�कल,े म�ंदर, महल, �च�कलाए,ं ह�त�श�प कला, लोक सगंीत, लोक ना�  आ�द ; राज�ान क� राज�यव�ा म � शा�मल 

टॉ�प�स - राज�ान लोक सवेा आयोग, रा�य मानवा�धकार आयोग, आ�द; रा�य सरकार क� �मखु योजनाए ंआ�द पर �� 

परी�ा म � अव�य ही पछेू जात ेह � ऐस े टॉ�प�स को ��त�दन टा�क के �प म � याद करवाया जायगेा ता�क �ार�ं भक परी�ा म �

आन ेवाल ेसभंा�वत �� आसानी स ेहल कर पाए ं ।

D Toppers Based Guidance Programme

उदाहरणत :

T कुछ मह�वपणू � �वषय आपको RAS 2016 एव ं2018 Toppers के मागद� शन�  म � पढ़ाय ेजायग�  ेजो परी�ा क� द�� स ेृ

अ�तमह�वपणू  � ह � एव ं �जनम े मागद� शन�  क� आव�यकता सामा�यतः �व�ाथ� �ारा महससू  क� जाती ह ै । 

T �नय�मत �प स ेक�ा म � आपको RAS Toppers स ेसवंाद करन ेका अवसर �दान कराया जायगेा ता�क उनके अनभुव� स े

लाभ उठाकर आप अपनी परी�ा म � सफलता स�ुन��त कर सक�  ।

D  इसके अतंगत�  पा��म म � शा�मल ऐस े Topics का चयन Task के �प म � �कया गया ह ैजो परी�ा क� Task Based Study :

द�� स ेअ�त मह�वपणू � ह ैएव ं �जनम े स ेपरी�ा म � �� अव�य पछेू जात ेह � । इन Task Topics क� �कृ�त �ार�ं भक एव ंम�ुय परी�ा ृ

के �लए अलग-अलग होगी �य��क �ार�ं भक परी�ा म � व�त�ुन� �कार के �� पछेू जात ेह � एव ंम�ुय परी�ा म � वणा�� मक �कार के 

�� हल करवाए जात ेह � ।

D Answer Writing Practice :

T Minor Tests : क�ा म � पढ़ाय ेगए पा��म का हर 12 �दन बाद एक Minor Test आयो�जत होगा । Minor Test म �

�ार�ं भक एव ंम�ुय परी�ा म � पछेू जान ेवाल े��� क� �कृ�त के अनसुार �� पछेू जायग�  ेएव ंअ�यास करवाया जायगेा । 

D Tri-Level Evaluation (��-�तरीय मू�याकं न)

D स�पणू � पा��म का �वषयवार सव�� �े टीम के मागद� शन�  म � अ�यापन करवाया जायगेा । 

T Major Tests : त�समय तक पढ़ाय ेगए स�पणू � पा��म के �र�वज़न हते ु��यके 3 Minor Tests के बाद एक Major 

Test का आयोजन होगा ।

D  फाउंडेशन कोस � क� समा�� के प�ात् भी �कसी �कार के मागद� शन�  एव ंम�ूया�न के Post Foundation Course Activity :

�लए छा�� स े �नरतं र जड़ुाव रखा जायगेा तथा समय-समय पर रणनी�तक प�रचचाए�  ंक� जाएगी ।

 म�ुय परी�ा म � 15 श�द 50 श�द एव ं100 श�द� म � वणा�� मक �कार के �� पछेू जात ेह � एव ंयह अप�ेा क� जाती ह ैक�

 आप का उ�र �प�, रचना�मक, उदाहराणय�ु हो । अतः �नय�मत �प स ेउ�र लखेन का अ�यास करवाया जायगेा। 

Important Features
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